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Physics : Section-A (Q. No. 001 to 035)

1 If the galvanometer G does not show any
deflection in the circuit shown, the value of R is
given by :

400 Q

+
— 2V

—+
10 V—/=— —

(1) 100Q (2) 4000
(3) 2000 4) 500

2 Let a wire be suspended from the ceiling (rigid
support) and stretched by a weight W attached
at its free end. The longitudinal stress at any
point of cross-sectional area A of the wire is :

(1) w/24 (2) Zero
3) 2w/4 4) wj/4
3 The work functions of Caesium (Cs), Potassium

(K) and Sodium (Na) are 2.14eV, 2.30eV and
2.75 eV respectively. If incident electromagnetic

radiation has an incident energy of 2.20eV,
which of these photosensitive surfaces may emit

photoelectrons?

(1) K only (2) Na only

(3) Cs only (4) Both Na and K
4 The venturi-meter works on :

(1) The principle of parallel axes

(2) The principle of perpendicular axes
(3) Huygen’s principle

(4) Bernoulli’s principle

5 The potential energy of a long spring when
stretched by 2 cm is U. If the spring is stretched
by 8 cm, potential energy stored in it will be :
(1) 8U (2) 16U
3) 2uU (4) 4U

6 The temperature of a gas is —50° C. To what
temperature the gas should be heated so that the
rms speed is increased by 3 times?

(1) 3097 K (2) 223K
(3) 669° C (4) 3295°C
7 The amount of energy required to form a soap bubble

of radius 2 cm from a soap solution is nearly :
(surface tension of soap solution = 0.03 N m1)
(1) 3.01x104J (2) 50.1x104J

(3) 30.16x1074J (4) 5.06x1074J
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gfy gftoy & gEdy G &g fae T gotar ¥, a9
R &1 99 =0

400 Q
AN G)
+ +
10 V—/— R —_— 2V
(1) 100Q (2) 400Q
(3) 2000 4 50Q

AT U A1 BI {68l B (38 SMER) | qehrAm T
% qun 39% god R 9 W 9 Sige] didn S §1
A ST BT FA6A b A b [BEl a5 U o=
giqae & —

(1) w/24 2) =

(3) 2w/4 4y w4

gitsrem (Cs), wrelmmm (K) qur aifsaw (Na) &1
HEHAT HAEM: 2.14eV, 2.30eVar 2.75eV %)
gy smufad Sgageea fafewr & st 2.20eV ¥,
T W BN T THITGUTE! T8, THIST A Sedrora
HL Gobal & ¢

(1) @aw K (2) %aw Na
(3) ®&aw@ Cs (4) T9i Nag K
Jmdl H B

(1) TumaR ore & fagia

(2) wEq el & fagia

(3) @EiE faed W

(4) e fasia T

fopelt o s oY Rufawr S@if U % w9 38 2 om
diar wirar &1 afe {5 & 8 cm dier W™, df 3ed
gfua Rafast St &b e

(1) 8U (2) 16U

(3) 2U 4) 4U

fpel g @1 qEE —50° C ¥ 9 &l fee qoEE
T T fopar 9 f6 sEa! ot Arew @ 9@ H AN

Th ofg @ o ?
(1) 3097 K (2) 223K
(3) 669 C (4) 3295° C

YA & = | 2 cm BI5uT &1 9 &1 Jager g9
% fU Srasge el B A T § (AET & 9|
1 g8 qa = 0.03 Nm1) :

(1) 3.01x104J  (2) 50.1x104J

(3) 30.16x104)  (4) 5.06x1074J
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The ratio of radius of gyration of a solid sphere
of mass M and radius R about its own axis to
the radius of gyration of the thin hollow sphere
of same mass and radius about its axis is :
(1) 2:5 2) 5:2

3) 3:5 4) 5:3

A bullet is fired from a gun at the speed of
280 ms~! in the direction 30° above the
horizontal. The maximum height attained by the

bullet is (g =9.8ms 2, sin30°= 0.5) :

(1) 1000 m (2) 3000 m
(3) 2800 m (4) 2000 m

In a plane electromagnetic wave travelling in
free space, the electric field component oscillates

sinusoidally at a frequency of 2.0x10'°Hz and

amplitude 48Vml. Then the amplitude of

oscillating magnetic field is : (Speed of light in
free space = 3 x 108 m s71)

(1) 1.6x107'T () 1.6x107°T
(3) 1.6x107°T (4) 1.6x107T

The net magnetic flux through any closed surface
is :

(1) Infinity (2) Negative

(3) Zero (4) Positive

A Carnot engine has an efficiency of 50% when
its source is at a temperature 327° C. The
temperature of the sink is :

(1) 100°C (2) 200° C

3) 27°C 4 15°C

A full wave rectifier circuit consists of two p-n
junction diodes, a centre-tapped transformer,
capacitor and a load resistance. Which of these
components remove the ac ripple from the
rectified output?

(1) Capacitor

(2) Load resistance

(3) A centre-tapped transformer

(4) p-n junction diodes

The equivalent capacitance of the system shown
in the following circuit is :

3nF
3uF
b
3uF
(1) 6puF (2) 9 pF
(3) 2pF (4) 3 uF
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M E=g9TE a9 R 51991 & Ueh 1 Mot bl 38l 31&
% 9 guiF Brean ao @ E geEEe 9 B %
Tl W el bl Heh! 3TE b 9 g e bl

ST ¥
(1) 2:5 2) 5:2
3) 3:5 4) 5:3

el 5% 9 & o afast @ 30° @ feam #
TUT B T 280 m s @ A F AN W B
Ml ET a9 & TS SNhad Hals &

(g =9.8m s_z, sin 30° = 0.5) :

(1) 1000 m (2) 3000 m
(3) 2800 m (4) 2000 m

Teh THAA JEAgabrd T o STebIST H T Y TRl
¥ 1afy foga &5 4g v ! emam qam 2.0x10'0Hz

I IR SaTesh % STIEY Qe HIdl & | a9 g
& & e b oW ¢ (Fata ®§ wentsr & 9w
=3x108 ms)

(1) 1.6x107'T () 1.6x107°T

(3) 1.6x107°T (4) 1.6x1078T

el o= g8 | oA Il IR R Fa
% .

(1) o T
3) () o

BT FoiT Bl geral 50% & oI 3H% &l bl qra==
327° C % | i &1 qEE ® -
(1) 100° C (2) 200° C
(3) 27°C 4) 15°C

e QUi fesesrdl ufkaer # &1 p-n @i W, wH
ey eprl ZEWH, WS qo7 T @S 9iae
T E 130 9 BY 91 " [ShId Frid o Jemadr
sigar (Ffte) faqa & &

(1) geufe

(2) e wfaae

(3) us " el ZiEwHT

(4) p-n @y s

frratatea afae ¥ yeiia fem & g g @ ¢
3nF

3uF

b s
3uF

(1) 6uF (2) 9 uF

(3) 2uF (4) 3 uF
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In a series LCR circuit, the inductance L is
10 mH, capacitance C is 1 pF and resistance R

is 100Q. The frequency at which resonance

occurs is :
(1) 1.59 rad/s (2) 1.59 kHz
(3) 15.9 rad/s (4) 15.9 kHz

-> >
If CﬁE -dS =0 over a surface, then :
S

(1) all the charges must necessarily be inside
the surface.

(2) the electric field inside the surface is
necessarily uniform.

(3) the number of flux lines entering the surface
must be equal to the number of flux lines
leaving it.

(4) the magnitude of electric field on the
surface is constant.

An electric dipole is placed at an angle of 30°

with an electric field of intensity 2x10°N .
It experiences a torque equal to 4 N m. Calculate
the magnitude of charge on the dipole, if the
dipole length is 2 cm.

(1) 4mC (2) 2mC

3) 8 mC (4) 6 mC

A football player is moving southward and
suddenly turns eastward with the same speed to
avoid an opponent. The force that acts on the
player while turning is :

(1) along north-east

(2) along south-west

(3) along eastward

(4) along northward

The magnetic energy stored in an inductor of
inductance 4 pH carrying a current of 2 A is :
(1) 8mlJ 2) 8ulJ
(G) 4wl 4) 4ml

Resistance of a carbon resistor determined from
colour codes is (22000 +5%) Q. The colour of

third band must be :
(1) Orange
(3) Red

(2) Yellow
(4) Green
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e Foiieg LCR afay ® 9 (L) 10 mH, enfar
(C) 1uF qur gfadg (R) 100Q ¥ AR S+
TN o Rafa & smgfa ¥ -
(1) 1.59 rad/s )
(3) 15.9 rad/s 4)

1.59 kHz
15.9 kHz

aﬁaﬁw%mgﬁz-%:o 3, a9

(1) =+ omaeT, g8 & TR B AR © |

(2) YB ¥ G THATH I & SEATE T

(3) US H YA B TG Tl (@IS bl HEAT 34
gl

(4) g 9 Jga & &1 i fraa ¥

% da faga @ 2x10°N ¢! e &t dga
& &b | 30° % HIOT G W T § 1| 39 W A
arer 99 oMot 4 Nm 31 afs fgga &1 @18 2 em
& ar faga ux ey ¥

(1) 4mC (2) 2 mC

(3) 8 mC 4) 6 mC

T FEalel bl Raers! or G @i ok 3 @l §
3R fatrelt & s & U same @9 9@ 9 @
@l S g3a1 3| Raemst ux A 9@ W9 9% gIar
%,

(1) ST-QE @l R

(2) cRr-uiyEw & &R

(3) W @ &K

(4) T @ &R

4 uH U¥hed & U H 2 A R YaTEd el & 398
dfaa gadr et &

() 8ml (2) 8ul

(3) 4ul (4) 4ml

Tul BIs § 3 AT 7T U BT+ WY Bl Uiy
(22000 +5%) Q ¥ T &5 &1 AW T AR
(1) =rah (2) drem
(3) w@m@ (4) =
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Light travels a distance x in time f; in air and

10x in time 7, in another denser medium. What
is the critical angle for this medium?

(3) sin”! (IAJ (4) sin”! [%j
Ul Ul

For Young’s double slit experiment, two

statements are given below:

Statement I : If screen is moved away from the

plane of slits, angular separation of the fringes

remains constant.

Statement II : If the monochromatic source is

replaced by another monochromatic source of

larger wavelength, the angular separation of

fringes decreases.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Statement I is true but Statement II is
false.

(2) Statement I is false but Statement II is
true.

(3) Both Statement I and Statement II are
true.

(4) Both Statement I and Statement II are
false.

The half life of a radioactive substance is
20 minutes. In how much time, the activity of
1 \th

substance drops to (E] of its initial value?

(2) 80 minutes
(4) 40 minutes

(1) 60 minutes
(3) 20 minutes

The errors in the measurement which arise due
to unpredictable fluctuations in temperature and
voltage supply are :

(1) Least count errors

(2) Random errors

(3) Instrumental errors

(4) Personal errors

The angular acceleration of a body, moving along
the circumference of a circle, is :

(1) along the tangent to its position

(2) along the axis of rotation

(3) along the radius, away from centre

(4) along the radius towards the centre
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g H ebiel /) EG H x G qU1 Y oA Hieqw

# 1, A 10x U qF HIAT &1 56 A & (g
TT~Ich DIVl T & 7

(3) sin”! [QJ (4) sin_l(%j
Ul Ul

4 & el wamr & fow & wem Freraq ®
w1 : afs vt fafat & o & @ sian 2, o e
BT B g Frad war R

o 11 : afs webadl &ia ot fepelt gt eiferes aimaed
% UHaUlt | § 95 {1 Srar &, ar Bewt &1 B
qrefeR "ear 1

IS BUAl P TaH H, Y @ T fawedt & 9
ST g

(1) =@ 19 % g ® 1 e/Ed 31

(2) =1 o9 2 Uty FaA 1 99 3

(3) T w= 19w I 9 )

(4) < wM 1T w1 orEd 2

U (fsaiufeed uard @ otg omg 20 fie 31 fopaw
a9 ¥ v orgMl Ui AT & %éfwmaai

ferafeq & smar 7
(1) 60 fire
(3) 20 fime

(2) 80 fme
(4) 40 fime

qT quT diees did ¥ el SAR de™ & i
o ® Ffear ¥ -

(1) oaadis Jrear

(2) =gfss Ffe

(3) g Ffeat

(4) =afra Ffeat

et g & ufikfy X Tfeme ww fvs @1 @i
@ BT

(1) zue Rafq @ wefen & efen

(2) oA & & erfas

(3) B % srfed, % 9 ST B AN

(4) B & orgfest, &% @l o
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An ac source is connected to a capacitor C. Due
to decrease in its operating frequency :

(1) displacement current decreases.

(2) capacitive reactance remains constant

(3) capacitive reactance decreases.

(4) displacement current increases.

The ratio of frequencies of fundamental
harmonic produced by an open pipe to that of
closed pipe having the same length is :

(1) 1:3 2) 3:1

3) 1:2 4 2:1

In hydrogen spectrum, the shortest wavelength
in the Balmer series is ). The shortest
wavelength in the Bracket series is :

() 9 2) 16

3) 2 4 4xr

Given below are two statements:

Statement I : Photovoltaic devices can convert

optical radiation into electricity.

Statement II : Zener diode is designed to operate

under reverse bias in breakdown region.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Statement I is correct but Statement II is
incorrect.

(2) Statement I is incorrect but Statement 11
is correct.

(3) Both Statement I and Statement II are
correct.

(4) Both Statement I and Statement II are
incorrect.

The magnitude and direction of the current in
the following circuit is

)] g A from A to B through E

(2) 1.5 A from B to A through £
(3) 0.2 A from B to A through E
(4) 0.5 A from 4 to B through F
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T YATEd! |l &l T "ot (C) § ST T &1
ZhH! Fadd g T2 9 ¢

(1) foramus ara gedt )

(2) i wfdeama o & §

(3) enfidr wfoend =ear B

(4) formus gra gedl ¥

T TS % U o U5y adT 95 U159 g1 S

@ UG B ghaal &1 STud ©
(1) 1:3 Q) 3:1
3) 1:2 @ 2:1

TTEge Wagd ®, IY il i JEaw aoeed )
¥ s gl & gAaH aoTee ®
() 9x (2) 161
(3) 24 4) 4a

SERUETERECRIE R

w1 : BrREeE giear g fafeer # faga
g # ufafid w gadr

F 11 : 9K ST oo & H usafelite e &
arrta 1 ® & fou S = )

U BUAl b Gad ¥, 9 @ W fyeed |
Gefifeh SugERT T T

(1) = 1981 ¢ uxg FF 1 @&1 &0 &)

(2) = 1 981 T & ug FaA 1 921 2|

(3) = FE I 9 Fa= 11 @& ¥

(4) = Fam I w1 981 2 81

Fr=fefaa aftgy & e o afmmr oo fgon ®

D YWWv C

(1) gA,E@fs‘remA@fBaﬁaﬁT

(2) 15A, EQEH BY A &l 3
(3) 02A, EQ THL BY A& 3l
(4) 05A, EQ 'EHT A ¥ B &l 3
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Two bodies of mass m and 9m are placed at a
distance R. The gravitational potential on the
line joining the bodies where the gravitational
field equals zero, will be (G = gravitational
constant) :

1) _]61§m @) _ZOIg}m
3) _8(;171 ) _12gm

A metal wire has mass (0.4 £0.002) g, radius
(0.3+£0.001) mm and length (5+0.02) cm. The

maximum possible percentage error in the
measurement of density will nearly be:

(1) 1.6% 2) 1.4%

3) 12% 4 13%

A vehicle travels half the distance with speed
® and the remaining distance with speed 28 .
Its average speed is:

y 2 y 2
M) @ 5
G 3 O

A 12V, 60 W lamp is connected to the secondary
of a step down transformer, whose primary is
connected to ac mains of 220 V. Assuming the
transformer to be ideal, what is the current in
the primary winding?
() 3.7A

3) 027A

2) 037A
4) 2.7A

The minimum wavelength of X-rays produced
by an electron accelerated through a potential
difference of V volts is proportional to:

1
7 @ »?
@) W ) 3
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FHEE m T 9m % & Y8 U g ¥ Rgll W
Rerd 21 avst &1 fam el @ W, TRl e e

A B, e fava B8R (G = T Reis) ¢

16 G 20G
(I -— @ -==
8G 12G
3 -— 4 -—

T difad a & g (0.4+0.002) g, Brewn
(03£0.001) mm qar T (5+0.02) cm ¥
T & 99T H eifrehan dwa Jfe @ Eh
(1) 1.6% (2) 1.4%

(3) 1.2% 4 1.3%

e T el g I/ 0 ¥ 9T 99 g 9@ 29
¥ g war 21 3EH ofEd O ®

n B y 2
1) = @ 5
3 3 DN

TH 12V, 60 W & ol ZEWHT & 5dds o
o1 ¥, St wrafes 220 V % gemEdt | & 3T 31
ZIGBIET BT St ST, Wit argfeT § oy 3

() 3.7A (2) 037A
(3) 027A 4) 27A

V dieed % U fawarat @ @ia fedl saee gra
IO X-FpTl @ =Aam qTeed S HuT §

1
7 @
@) V7 @ -
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Physics : Section-B (Q. No. 036 to 050)
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The resistance of platinum wire at 0°C is 2Q

and 6.8Q at 80°C. The temperature coefficient

of resistance of the wire is :

(1) 3x10°2°C! (2) 3x107! oC-!

(3) 3x1074°oC! (4) 3x1073 °oC!

An electric dipole is placed as shown in the figure.
5 cm P

0

° } ] .
tq

—4 3cm 3cm
The electric potential (in 102 V) at point P due

to the dipole is (€)= permittivity of free space

oo B

o @ o (e

For the following logic circuit, the truth table is:

and =K):

4neo

A4[>o—|_

=
b e T
(1) 4 B Y 2 4 B Y
0 0 I 0 0 0
01 0 0 1 0
1 0 1 1 0 O
11 0 o1
3) 4 B Y 4 4 B Y
0 0 1 0 0 0
0o 1 1 0 1 1
1 0 1 1 0 1
1 1 O 1 1 1

A very long conducting wire is bent in a semi-
circular shape from 4 to B as shown in figure.
The magnetic field at point P for steady current
configuration is given by :

1 —>
————— > A
R
P
i
----- B

2
) ﬁ{l—;} pointed away from page
Hot|, 2 . :
(2) 7g|'~7 | pointed into the page
Fl()i . .
3) IR pointed into the page

@) % pointed away from the page
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wfeaq % a &1 giaag 0°C 9x 2Q g 80°C X
6.8Q &1 AIX &1 UiqAY A9 I &

(1) 3x102°Cc1  (2) 3x10°! °oC-!

(3) 3x104°C!  (4) 3x1073 °C!

% I faga fow # wafdfa 31 faga & anw fag
P q¢ forga fawa (102 V ) ¥ (e)=9a smmabrar &Y
Aegasfiaan qen !

=K):
47reo

5cm P

— < ~ +
1 3 cm 3 cm 9

0w o ([

3) (%) qK 4 @j qK

@ W w@ifee afay & goaar gl ¥

b
4DO_|_ '

)

(€))

O —— O — O —
—o—OoW— O —oO W

A
0
0
1
1
“4) 4
0
0
1
1

% —_———0 N —, O OO~

-
.
-
3
3
:
z

3

w%gﬁwwﬁ%w

@ 451-2) o et i
3) j—%ﬁaﬁwﬁw
4) i—%ﬁﬁ@rwﬁreﬂx
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Two thin lenses are of same focal lengths (),
but one is convex and the other one is concave.
When they are placed in contact with each other,
the equivalent focal length of the combination
will be :

1 f/2 (2) Infinite
(3) Zero 4) f/4
The radius of inner most orbit of hydrogen atom

is 53x107"'m. What is the radius of third
allowed orbit of hydrogen atom?

() 477A

3) 0534 4)

Calculate the maximum acceleration of a moving
car so that a body lying on the floor of the car
remains stationary. The coefficient of static
friction between the body and the floor is 0.15
(g=10ms2).

(1) 15ms™ (2) 50ms™>
(3) 12ms3 4)

A satellite is orbiting just above the surface of
the earth with period 7. If d is the density of the
earth and G is the universal constant of

(M 1594

1.06 A

150 m 5_2

.o .3
gravitation, the quantity G_Z represents :

1 713 ) T
3 T 4) 12

The net impedance of circuit (as shown in figure)
will be :

50 | 100
?mH 3

i

<
220 V, 50 Hz
2) 250

4) 150

(1) 5450
3) 10420

10 resistors, each of resistance R are connected
in series to a battery of emf E and negligible
internal resistance. Then those are connected in
parallel to the same battery, the current is
increased n times. The value of » is :

(H 1 (2) 1000

3) 10 4) 100
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TH T HHE g (f) & T T F €, g T
T 9 GEU A 5| 59 F Th GEL B q9hb § @
¥, @ AT B g Bied gl B

1 f/2 (2) o

Q) x= 4 f/4

FESIOM UXATY] & A9 S bel &l e

53107 ' m ¥ EEger wwary @ ded srEia
Hefl o Frean @ § 7

(M 1594 () 4774

3) 0534 @ 1.06A

T T BT BT SIS T 3 BT qTleh
B & B T W@ T a5 R a1 @1 g qen
wef & @ &1 Wigws =9 e 0.15 2
(g=10m s2)|

(D 1.5ms 2 (2) 50ms 2

(3) 12ms2 4 150 m s>

T IWIE T SEddd & 91 el ad & b HuX
% e ¥ g fear Star 31 At gt & ' d
e G e e Fradi A, @ i o
yeiifd &l &

ONE @) T

Q)T @ 71

gieqy (S T fasr & wefifa %) @ afomdt widqemen
2

220V, 50 Hz
) s5v50 (2 25Q
3) 10420 (4)

Tk T yia" R % 10 wfaqet @ E faega aws
IA AT OGS WU Bl Th S & g
Ul HH H T T ¥ 99 3% GHN 921 b @Y
THI HH | SIST Sl @, @ 9 72 T 81 Sl 5
n B AE R

1 1 (2) 1000

(3) 10 4) 100

15Q
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A horizontal bridge is built across a river. A
student standing on the bridge throws a small

ball vertically upwards with a velocity 4 ms™'.

The ball strikes the water surface after 4s. The
height of bridge above water surface is

(Take g=10m 5_2) :

(1) 64m (2) 68m

(3) 56m (4) 60m

In the figure shown here, what is the equivalent

focal length of the combination of lenses
(Assume that all layers are thin)?

m=lS——
CoID/v\IIIZ
] fEjR=Ry=20em
I Rl —
“a--A /Ry 7
ny=1.6—1
(I) =100 cm (2) —50cm
(3) 40 cm 4) —40 cm

A wire carrying a current / along the positive
x-axis has length L. It is kept in a magnetic field

- A A N

B=(2i+3j—-4k) T. The magnitude of the
magnetic force acting on the wire is :

() SIL Q) BIL

(3) 31IL 4) 5L

The x-t graph of a particle performing simple
harmonic motion is shown in the figure. The
acceleration of the particle at =2 s is :

1 —
x (m) O%\‘t 6

1(s)
RN
2 2

(1) ’1‘_6ms—2 2) —’1‘—6ms—2
2 2

3) %mﬁ 4) -Zms?

A bullet from a gun is fired on a rectangular
wooden block with velocity u. When bullet
travels 24 cm through the block along its length

horizontally, velocity of bullet becomes % Then

it further penetrates into the block in the same
direction before coming to rest exactly at the
other end of the block. The total length of the
block is :

(I) 28 cm
(3) 27 cm

(2) 30 cm
(4) 24 cm
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Teh &l WX Ueh i g SR T E 1 Y| X Gl
Th B 4ms | & o971 § T B e S

U B 3T Hebal 31 45 91€ N G & GaE
THUA 31 UM & Tqe @ S A B HaAE ©

(g,ZIOms_2 Fﬁﬁﬂ'q) :
(1) 64m ) 68m
(3) 56m (4) 60m

e ™ foxr &, oGl & 9 B g Bied A
1 E (@ «F Tad AW 7

mElS——
CoIZ/v\IIIZ
] fEjRi=Ry=20em
I Rl —
“a--A /R,y
ny=1.6—1
(I) =100 cm (2) —50cm
(3) 40 cm (4) —40 cm

L @wTg & Wb X W ] 9T x-31eT @ Y9I fasm
% orfeyt yarsd Bl ¥ 3H UH JEHE &
Z:(2?+3}—42)Tﬁr@1w%laﬂwaﬁdﬁ
B T BT G F

() sSiL () B

(3) 3IL @ 5

TA SMEd A B 5T TH B BT x-f 6 o |
T T ¥ /=2 WHS U BT B @I §

1 —_
|
x(myof 1\ 6 L)
2 8
_1L______\__:/
2 2
T ) T )
(1 Tems () g ms
2 2
T ) T -2
() 5 ms “4) - ms

e ! T el WSl b Ueh HAEABI Tech U U
AT Y FEN ST § | W e Jedb | afers faom F 24

om & St ¥, Tt 1 3 < & T 1w a g

THT W qd T SHI QI H Weg Bl I @ A

Tb ¥adl 8| [E& B P a=TE © -
(1) 28 cm (2) 30 cm
(3) 27 cm (4) 24 cm
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Chemistry :

Section-A (Q. No. 051 to 085)

51

52

53

54

55

56

)

4

Given below are two statements :
Statement I : A unit formed by the attachment

of a base to 1' position of sugar is known as

nucleoside
Statement 1T :

phosphorous acid at 5'-position of sugar moiety,

we get nucleotide.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Statement I is true but Statement 11 is false.
(2) Statement I is false but Statement II is true.
(3) Both Statement I and Statement II are true.
(4) Both Statement I and Statement II are false.

The conductivity of centimolar solution of KCl
at 25°C is 0.0210 ohm! cm~! and the resistance
of the cell containing the solution at 25°C is
60 ohm. The value of cell constant is -

(1) 1.26 cm™! (2) 3.34 cm™ 1

(3) 1.34 cm™! (4) 3.28 cm™

The correct order of energies of molecular
orbitals of N, molecule, is :

When nucleoside is linked to

(1) ols<o'Is<o2s<o" 2s<o2p, <

c" 2p, < (Tc2px =7 2py) < (n*.’ZpX =" 2py)

* %
(2) ols<o Is<o2s<o 2s<(n2px_n2py)<

(n*pr :n*2py) <o2p, < c" 2p,

cls<c" ls<025<0*25<(n2pxzn2py><
* * *

G2pz<<TC 2p, =7 2py)<c 2p,

cls<c Is<c2s<c 2s<o2p, <

(Tt2pX =m 2py) <<TE*2pX = n*2py)< c" 2p,

The number of ¢ bonds, © bonds and lone pair
of electrons in pyridine, respectively are :

(1 11,3,1 2) 12,2, 1

3) 11,2,0 4) 12,3,0

The element expected to form largest ion to
achieve the nearest noble gas configuration is :
(1) N (2) Na

3) O “4) F

Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : Helium is used to dilute oxygen

in diving apparatus.

Reasons R : Helium has high solubility in O,.

In the light of the above statements, choose the

correct answer from the options given below :

(1) A is true but R is false.

(2) A is false but R is true.

(3) Both A and R are true and R is the correct
explanation of A.

(4) Both A and R are true and R is NOT the

correct explanation of A.
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& wuw fau o ¥

FA 1 : fopel e & g 1’ Rafd e &
it gag &l gfrmeiags sed ¥

w11 : W9 glereianss b arafer a5 ' -Rafa

q@%tﬁrwﬁw% 3 © AT ¢ Al 89 Jriaiegs <
|

FUX U MU HUAl & YR WX A fgu U faweat
H ¥ w& I gl

(1) =W 197 ¢ aig 4 1 3@ 2|

(2) w1 3@d & g & 1 93 )

(3) ® I X ®4= 11 I 9 |

4) F= 1 3R F2= 11 <+ e )

25°C ¥ KCl & ¥¥miax faags @ araesdar
0.0210 ohm™! em™! % &R 25°C W fomaw a@
I B Waag 60 ohm ¥ A Rexis &1 A ¢
(1) 1.26 cm™! (2) 3.34 cm™!
() 134 cm! (4) 3.28 cm!
N, 319 % foT0 atfvacs dHarehl ol SHetisll &l TEl HH &
(1) cls<c’ Is<o2s<c 2s<o2p, <
¢ 2p, <(7r2pX =n 2py)<(n*2pX = n*2py)

(2) ols<o Is<o2s<o 2s<(n2px=n2py)<
(TE*ZpX =n" 2py) <62p,< o 2p,
(3) ols<o Is<o2s<o 2s<<n2pxzn2py)<
62p, < (n* 2p, = " 2py) <o 2p,
(4) cls<o'ls<o2s<oc 2s<c2p, <
(7c2pX = thpy)<(ﬂ*2px = n*zpy)< s 2p,
ofee, m omEdl SR IeiwgEl %
AT HHST:, &

2) 12,2, 1
4) 12.3.0

N W

%%

A~~~
U =
—
—_—
MW
\.v

3
1S
4

e ACE
‘-‘“ozw

I3

fau 7o ¥ | U A ‘afumem A’ ok g
fafea feeen w2
: MA@t & Sustel ¥ dfwad @

i

%5
§,>
?:

4) %ﬁ?%’{Ra—'ﬁW% lﬂ@R A %7 FE e
|
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Complete the following reaction :

OH
0 __HCN
oo XK
[B]

[A]

conc. H2$O4 . [C]

A 7
[C] is
o O
Q) Q—COOH
0 O
@ QCOOH

Consider the following reaction and identify the
product (P).

CH, — CH — CH - CH,

| | HB
CH, OH —L 5 Product (P)

3 — Methylbutan— 2 — ol

(1) CH, —(|3H—(‘ZH—CH3
CH3 Br

CH
\
(2) CH;-C-CH, Br
\
CH,

3

Br
\

3) CH, —|C—CH2 - CH,
CH,

(4) CH, CH=CH-CH,

H6_ Hindi+English |
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Pretfifm ofbmaT @1 T BT

OH
o —HeN
CN

[A]

[C]% -

(1) @CHO
2) @—COOH
o QOH

(4) QCOOH

ffaiaa erfufrar T e #ifvig ik saE (P)
% TEAIT|
CH, - CH - CH - CH,
| |
CH, OH

3 - afyderea- 2 - afta
()

—HBr 5 Sae (P)

CH; —CH~-CH -CH,4
\ |
CH3 Br

CH
|

CH, - |c ~CH, Br

CH

3

)
3

Br
|

CH, —‘C—CH2 - CH,
CH,

3)

(4) CH, CH=CH-CH,
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Which amongst the following options is correct
graphical representation of Boyle’s Law?

N
T T;>T> T,
P
() 1,
T
T/
AN
1 N
\
\
/ I
V2
T &
P
)
V, <V, <V,
T—>
T Ty>T,>T,
P
3)
.
2
T3\
v— 7
/ T3 T2
! :
P
4) Ty>T,>T,
1
S —>

Taking stability as the factor, which one of the
following represents correct relationship?

(1) AICI>AICI; (2) TH > Tl

(3) TICl; > TICI  (4) Inly > Inl
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frefofad & 9 dF-—a1 Tiad & g & @ e
fquy %7

N
T T,>T,>T,
P
(1 T
T
le
AN
1 >
A
/N V]
v,
7 .
P
()
V,<V,<V,
AN
T—>
/]
T T3> T> T,
P
3)
.
2
v—> 7
/ T3 T2
1 :
P
4 T,>T,>T,
AN
K —>

I Bl BRH W U, Ffarad 9 § da—a1 &l
Y RS BT § 7
(1) AICI > AICI4
(3) TICl; > TICI

) TI > Tl
(4) Inly > In
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Identify the product in the following reaction :

+
N> Cl

3

> Product
MgBr OH
Br
OH

Homoleptic complex from the following
complexes is :

(1) Pentaamminecarbonatocobalt (III) chloride
(2) Triamminetriaquachromium (III) chloride
(3) Potassium trioxalatoaluminate (III)

“)

(i) CuyBry /HBr
(ii) Mg/dry ether

(iii) H,O

4

Diamminechloridonitrito - N - platinum (II)

Intermolecular forces are forces of attraction and
repulsion between interacting particles that will
include :

dipole - dipole forces.

dipole - induced dipole forces.

hydrogen bonding.

covalent bonding.

dispersion forces.

Choose the most appropriate answer from the
options given below :

(I) A, B, C, E are correct.

(2) A, C, D, E are correct.

(3) B, C, D, E are correct.

4) A, B, C, D are correct.

moOw >

The stability of Cu?* is more than Cu™ salts in
aqueous solution due to -

(1) hydration energy.

(2) second ionisation enthalpy.

(3) first ionisation enthalpy.

(4) enthalpy of atomization.
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fr=fataa afufear & S & ety
+_
N> Cl

(i) CuyBry/HBr

(.1_1.) Mg/g=R | e
(iii) H,O

MgBr

&S 8
Il

frfaiad sl ¥ ¥ SHied TP &
(1) T=efFEETwmEee (1) FREs
(2) zEUEFZETEETLEE (I11) wREe
(3) urRRrm ZEstE@Rghre (110)
(4) =EUHFEINEMREIRT - N - wfem (1)

SFaenias 9@ o fhaT & It & & 9
YT 31T Uideyor & o S B & o affdd
R

A fe-ga-fega s@

B. f&-ga-uha fe-ga s@
C. TESIoM oTEEd

D. wEEdSl smEys

E. Y& ad

e feg o fawedl § @ waw SugEa faee g ¢
(1) A, B, C, E @& %)
(2) A, C, D, E @& %
(3) B,C, D, E @& ¥
(4) A, B, C, D@ ¥

Steng faeat & Cul™ waui &1 wfra Cut @
g atfie ffaiad & &R gar 2

(1) S St

2) Tai e Tt

(3) WUH STEE T

(4) & T
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Match List - I with List- II :

List-1 List - IT

A. Coke I.  Carbon atoms are
sp3 hybridised.

B. Diamond II.  Used as a dry
lubricant

C. Fullerene III. Used as a
reducing agent

D. Graphite IV. Cage like
molecules

Choose the correct answer from the options
given below :

(1) A-lI, B-I, C-1V, D-1I

(2) A-lI, B-1V, C-1, D-1I

(3) A-I, B-1V, C-1, D-II

4) A-1V, B-1, C-II, D-1II

Which of the following statements are NOT

correct?

A. Hydrogen is used to reduce heavy metal
oxides to metals.

B. Heavy water is used to study reaction
mechanism.

C. Hydrogen is used to make saturated fats
from oils.

D. The H-H bond dissociation enthalpy is
lowest as compared to a single bond
between two atoms of any element.

E. Hydrogen reduces oxides of metals that are
more active than iron.

Choose the most appropriate answer from the

options given below :

(1) D, E only (2) A, B, C only

(3) B,C,D,Eonly (4) B,Donly

The right option for the mass of CO, produced
by heating 20 g of 20% pure limestone is
(Atomic mass of Ca = 40)

[CaCO _1200K , ca0+CO }

(1) 264¢ (2) 132¢
(3) lI2g 4) 176 ¢

Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : In equation A G =-nFE__, value

cell”

of A,G depends on n.

Reasons R : E_, is an intensive property and

A,G 1s an extensive property.

In the light of the above statements, choose the

correct answer from the options given below :

(1) A is true but R is false.

(2) A is false but R is true.

(3) Both A and R are true and R is the correct
explanation of A.

(4) Both A and R are true and R is NOT the
correct explanation of A.
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T -1 & gt - 1 &% @y fras i)
T -1 a;ﬁ II
A & L
sp3a'cﬁﬁ?rsﬁ%|
B. @ 1. %% T & &9
F SUEnT fepa S ?
C. peiM Il S9amEs @l Hifd
wq‘mﬁww%l
D. ¥wiEe Iv. fi

T fgu o famedl F ¥ @ S ﬂf*ﬂl
(1) A-II, B-1, C-1V, D-II
(2) A-IIL, B-IV, C-I, D-II
(3) A-I, B-1V, C-1, D-IIT
4) A-1V, B-1, C-II, D-IIT

Frafafed & @ -9 a9 @& T ?

A.  TTESISH B SHANT 9 91g SiaTgs| & argaet
# omfad & & fag fear sman 2

B. oI <@ &1 IUANT SitHfshan fpatfafy & sreses
% fog fepam mam )

C. TIESIoM &1 IUANT d@l § Fg< aarst ol a9
% fau fopan s 2

D. fwdl 4l 9@ & a1 TS & S99 THA ey
o ga ¥ H-H oy fagem e gaaq
Bl B

E. ?EgoM e d afud fhaneia argstt &
NTeRATESl &l eTafad Bl ol

e fou T famedl § @ ¥eQ SugE IOX gU

(1) ®wa@ D, E (2) %ad A, B, C

(3) wa@ B,C,D,E (4) ®aw B,D

20% & AT T &b 20 g B TH & d IA

CO, % 5 & faQ &l faebeq & : (Ca & ITHY]

FeqH =40 %))

[CaCO _1200K a0+ CO }

(1) 2.64¢ () 132¢

3) 1.12¢g 4) 1.76 ¢

I 31w faw T ¥ | U B AR A’ SR gEl

® ‘&R R’ fafea fear man &)

afvered A : @@ A G=-nFE, & A G @&

A n I FfR % ®

FR R : By WO TUEH ¥ 3R A G T

AT JOTER

U U T4 U1 & MY IX, A fu Tu faweai

¥ ¥ w8 I g

(1) A9 ? 9{g R @A 2|

(2) A @™ ¥ g R 9 2|

3) %&WRMW%@TR,A@@W
|

4) A?Rﬁw%,qﬁR,AaﬁﬂﬁW
T B
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Select the correct statements from the

following :

A. Atoms of all elements are composed of two
fundamental particles.

B. The mass of the electron is
9.10939 x 10731 kg,

C. All the isotopes of a given element show
same chemical properties.

D. Protons and electrons are collectively
known as nucleons.

E. Dalton’s atomic theory, regarded the atom
as an ultimate particle of matter.

Choose the correct answer from the options

given below :

(1) A and E only

(2) B, C and E only

(3) A, Band C only

(4) C, D and E only

For a certain reaction, the rate = k[A]2 [B], when

the initial concentration of A is tripled keeping
concentration of B constant, the initial rate would
(1) increase by a factor of nine.

(2) increase by a factor of three.

(3) decrease by a factor of nine.

(4) increase by a factor of six.

Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : A reaction can have zero activation

energy.

Reasons R : The minimum extra amount of

energy absorbed by reactant molecules so that

their energy becomes equal to threshold value,

is called activation energy.

In the light of the above statements, choose the

correct answer from the options given below :

(1) A is true but R is false.

(2) A is false but R is true.

(3) Both A and R are true and R is the correct
explanation of A.

(4) Both A and R are true and R is NOT the

correct explanation of A.

Which of the following reactions will NOT give
primary amine as the product?

(i) LiAlHy

(1) CH3NC W Product
(i) LiAlH
(2) CH,;CONH, TE Product
(3) CH,; CONH, _ B /KOH | b duct
(i) LiAIH 4
(4) CH;CN (11306 Product
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Ffafad & @ @& Sl &1 T BT |

A, @ T& & T & A HON G a9 B &

B. A& &1 F@AE 9.10939 x 103! kg &rar
gl

C. Tt aa & ot geente g Tamfe o
yeiifd &% ¥

D. YRl 3 Suagl Bl S §9 ¥ st
HEd 2

E. sieed & q] faaid ¥ wEm] & 5 & qd
% b &Y H HE

9 fow o famedt § @ w& A gig ¢

(1) &ad A SR E

(2) %aw@ B, C 3T E

(3) ¥a@ A, B &l C

(4) ®aw C, D3R E

fepey fafyrse arfufepen & o,

am = k[A][B] ¥ 9 B @ @igan @ Rex @@

TT A &I yrifHes |igar 99 A1 & S 7, dF aiiie

E

(1) ¥ % U &0 96 S|

(2) TF % TUTH EA IG S

(3) T % YUIH F =T I

(4) ® & o G TG S

I 31w faw T ¥ | U B AR A’ SR gEt

B ‘&re R’ fafea fean man @)

st A fordlt aifufsean & g e &= @

gl 1

FO R : afeRe e gRT SEenid gAad

fafiery Sutt sl AT R S9! el &al 7 &

UM ¥ WU, |lhA0 Holl bedrl & |

U f§u U At & oy WX, W fu T famea

# H /I g

(1) A@d?, wig R @A 3l

(2) A Ed %, (g R 97 31

(3) A 3R R3Hl @ ¥ 3l R, A &l 921 Sre
.

(4) A SR RIA 6 ¥, T R, A &l 921 e
T 3

Frrafafaa afafsaretl & ¥ B9 SaE & &0 &

yrafirs T & I ?

(1) CH;NC Eiz)LI;/:gHé A
(2) CH,CONH, 83;’;‘% TR
(3) CH, CONH, —2/ XM, 5arg
(4) CH,CN EI?)LI;’;‘)Hg T
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Some tranquilizers are listed below. Which one
from the following belongs to barbiturates?
(1) Valium

(2) Veronal

(3) Chlordiazepoxide

(4) Meprobamate

The given compound
CH=CH - $H — CH, CHj4
X

is an example of .
(1) allylic halide  (2) vinylic halide
(3) benzylic halide (4) aryl halide

Weight (g) of two moles of the organic
compound, which is obtained by heating sodium
ethanoate with sodium hydroxide in presence of
calcium oxide is :
(1) 30
3) 16

2) 18
4) 32

A compound is formed by two elements A and
B. The element B forms cubic close packed
structure and atoms of A occupy 1/3 of
tetrahedral voids. If the formula of the compound
is AB,, then the value of x +y is in option
(1) 3 2) 2

3) 5 “4) 4

Amongst the given options which of the
following molecules / ion acts as a Lewis acid?
(1) BFy (2) OH~
(3) NH; 4) H,0
In Lassaigne’s extract of an organic compound,
both nitrogen and sulphur are present, which

gives blood red colour with Fe3™ due to the
formation of -

(1) [Fe(cN), NOST_
@ [Fe(seN)]**

(3) Fey[Fe(CN), ] - xH,0
(4) NaSCN
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I HE qE S 6T T T 3T H B
qfdeeq 9 dafuq §7

(1) Afera=w

(2) A

(3) TSRS

(4) AW

fean T 9ifre

CH=CH - (|:H ~CH, CH,
X

P TH SETEL & |
(1) Ufeafas gegs  (2) @wEHide TemEs
(3) fifvs aEs  (4) e Fomss

Pieaan edEs o suRufd ® difsaw wdNue @
qifeaT BEAES & G TH B U Sl HIE D
AQifiTes W AT ¥, S€h & "Wl Bl "I (g)
(1) 30 () 18

(3) 16 4) 32

T ARh & aei A o B ERT 991 3o ¥ 1 aa B
g Ffas dgiad dxa s 8 8 A & 9T
1/3 agesasma Tl & wia ¥ | afs difes & g
AB, B fabedi § & x +y &1 A BT

(H 3 2 2

3 5 4) 4

fam T foreedl & & BT 3] / ST qIT ST Bl
TE FIER BT & 7
(1) BF,
(3) NH;

(2) OH-
(4) H,0

ferdl AiftTer & o frspd o e ofR "ewT aNt
Suftea ¥ St Fed™ & gty freifefaq & w79 & &ew
T @ Hifq @ ST <ar B

(1) [Fe(cN), NOST_
@) [Fe(seN)]**

3) Fe4[Fe(CN)6L-xH20
(4) NaSCN
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Identify product (A) in the following reaction :

Ay

Zn—Hg
conc. HCI

OH

CH,OH
CH,

CH,

OH
OH

Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :
Assertion A : Metallic sodium dissolves in liquid
ammonia giving a deep blue solution, which is
paramagnetic.
Reasons R : The deep blue solution is due to
the formation of amide.
In the light of the above statements, choose the
correct answer from the options given below :
(1) A is true but R is false.
(2) A is false but R is true.
(3) Both A and R are true and R is the correct

explanation of A.
(4) Both A and R are true but R is NOT the

correct explanation of A.

(A)+2H,0

H6_ Hindi+English |
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fr=fataa sfufshar & sang (A) & weaf+al

Moy

Zn—Hg
qig, HCI

(l)H
CH,OH
CH,4
CH
OH
OH

I 31w faw T ¥ | uw B SR A’ SR gEt

® ‘&9 R’ fafea fear man &)

AYFI A @ gifes QifeaH g9 SHINET § geh]

T A T %1 faaae a1 8, St srdas™ &ar 51
R : &0 Al fa@as TH1Ee & S99 & B

BT ¥

TUT fU T HUAl & oMU WX, A fu T fawet

ff@f'ﬂ?lwgﬁ"'{:

(1) A9 ? 9{g R @A 2|

(2) A @™ ¥ Ui R 9 2|

(3) A X RIAl 9 ¥ 3T R, A &I G&l =
.

(4) A SR RIA 9 ¥, Tig R, A &l 921 =
T )

(A)+2H,0

2

3
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Which one of the following statements is

correct?

(1) The bone in human body is an inert and
unchanging substance.

(2) Mg plays roles in neuromuscular function
and interneuronal transmission.

(3) The daily requirement of Mg and Ca in the

human body is estimated to be 0.2 -0.3 g.

(4) All enzymes that utilise ATP in phosphate

transfer require Ca as the cofactor.

The relation between n,, (n,, = the number of

permissible values of magnetic quantum number

(m)) for a given value of azimuthal quantum

number (/), is

() n =2"+1 () n_ =l+2

l’lm—

B I=

4) I=2n_ +1

Amongst the following, the total number of
species NOT having eight electrons around
central atom in its outer most shell, is

NH;, AICL,, BeCl,, CCl,, PCI; :

(1) 4 2 1
3 3 4 2

Which one is an example of heterogenous
catalysis?

(1) Decomposition of ozone in presence of

nitrogen monoxide.

(2) Combination between dinitrogen and
dihydrogen to form ammonia in the
presence of finely divided iron.

Oxidation of sulphur dioxide into sulphur
trioxide in the presence of oxides of nitrogen.

3)

(4) Hydrolysis of sugar catalysed by H* ions.

Which amongst the following molecules on
polymerization produces neoprene?

(1) H,C=CH-C=CH

P
(2) H,C=C-CH=CH,

(3) H,C=CH-CH=CH,

Cl

|
(4) H,C=C-CH=CH,
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Frrfafad ®aet & @ BF-1 @@ ¥ 7

(1) wa R § &E1 Us 31fehg ST sufiac=isie
e B

Mg siqeaifsaera wsfra srfyomdr o
SfaRaita Juwor § siftreer frvrar ®)

AE R ® Mg 8fiR Ca &l 3 strasaehar
0.2-03 g s @ T

TIEd TSRl S Bk WA § ATP &
IYGRT B ¥, & [0 g5—a<d & &9 A Ca
JMETE T |

)
3
“

st @aien d@@n (1) & et fau w0 am & fag
n, = (eoE @i d& (m) & FFAT AH DI

() n =2*+1 () n, =l+2

m

nm—l

3 I= “)

l=2nm+1

frratated & | 39 @Wiel @ $a ge W wa
URATY] % TR BT H IH AR S TS Feaz[
T g E

NHj;, AICl,, BeCl,, CCl,, PCI;

(1 4 2 1
3 3 @ 2

frfafag & @ F9—ar fauanht saor &1 seew

¥?

(1) E2eH AFEEs o Suiafa & Sfisie @
qEe

(2) wEF ghfa S & SuRafa & st a9
% fo7U SR iR SEEEesH & Srg gaieH

(3) EZIeM % SiadIEs! &I IuRAfd H Gl
SEATFATSS BT TehT ZIZSTHAES | ST 0T

(4) 9T & HY omael & Safia stamgee

frafafed & ¥ a1 9gadd »T 9 M
IS HOM?
(1) H,C=CH-C=CH

CH,

|
(2) H,C=C-CH=CH,

(3) H,C=CH-CH=CH,

Cl

|
(4) H,C=C-CH=CH,
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Chemistry : Section-B (Q. No. 086 to 100)

86

87

88

89

90

On balancing the given redox reaction,
a CrZO? +b SO? (aq) +cH' (aq) -
2a Cr** (aq) + bSO~ (aq) + % H,0(¢)

the coefficients a, b and ¢ are found to be,

respectively -
(1 1,83 (2) 81,3
(3) 1,3,8 4) 3,8, 1

The reaction that does NOT take place in a
blast furnace between 900 K to 1500 K
temperature range during extraction of iron is :

(I) C+CO, —2CO

(2) CaO +Si0, - CaSiO,

(3) Fe,0, + CO - 2Fe0 + CO,
(4) FeO+CO - Fe +CO,

What fraction of one edge centred octahedral
void lies in one unit cell of fcc?

1 1
ey =

@ 3

4
1
2

3) Q)

1
3

Which amongst the following options is the
correct relation between change in enthalpy and
change in internal energy?

(1) AH-AU=-AnRT

(2) AH+AU=AnR

(3) AH=AU-An RT

(4) AH=AU+An RT
Match List - I with List - II :
List - I (Oxoacids List - II (Bonds)
of Sulphur)
A. Peroxodisul- L.
phuric acid
B. Sulphuric acid

Two S-OH, Four S=0,
One S-O-S

II. Two S-OH, One S=O

C. Pyrosulphuric  III. Two S-OH, Four S=0,

acid One S-O-O-S

D. Sulphurous acid IV. Two S-OH, Two S=0

Choose the correct answer from the options

given below :

(1) A-L, B-III, C-1V, D-II

(2) A-IL B-1V, C-II, D-I

(3) A-L B-IL, C-lI, D-IV

(4) A-lI, B-1V, C-1, D-1I
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3 TS sraTivTs fHihaT BT HfAd BT UX T
a, b X ¢ HAM: U BT E:

aCrZO$_+bSO§_(aq)+cH+ (aq) >
2aCr’t (aq) +b SOAZ[ (aq) + % H,0(¢)
1) 1.83 @) 8 1,3
3) 1,3,8 4 3,81

SERA & BN & SR At |9 § 900 K &
1500 K uxrE o s St sAtaishan &l &t T &, a8
T

ey
)
3
)

fec @ Th Teheh HITSSHT H T BIX bi-sd ST<HADI
fefeora @1 fopammr air Suled grar & °

C+CO, —»2CO

CaO +Si0, — CaSiO,
Fe,O; + CO — 2FeO + CO,
FeO + CO — Fe + CO,

1 1
M 7 @ 3
1 1
(3) 5 4) 3
ffaiad faeeal § ¥ s T 9iEd e
Al Hol giady & Sg 981 99 & 7
(1) AH-AU =-AnRT
(2) AH+AU=AnR
(3) AH=AU - AnRT
(4) AH=AU +An RT
T -1 gl - I &% @ B g e
T -1 T - 10
(T F (sra)
STTFARTA)
A. T I. & S-OH, I’ S=0,
TR 3T % S-0-S
B. avrfi® e Il & S-OH, ©& S=0
C. UEUEe® . g1 S-OH, T S=0,
3 Th S-0-0-S
D. 9 RE 3T IV. @ S-OH, & S=0

3 R o Rt ¥ ¥ @ S gR
(1) A-L B-III, C-IV, D-II
(2) A-IIL B-1V, C-II, D-I
(3) A-L B-IL C-II, D-IV
(4) A-IIL B-1V, C-I, D-II
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Identify the final product [D] obtained in the
following sequence of reactions.

CH,CHO e85 [A] 12224, [B]

ii) H;0%

Na/dry ether

Br

e [c]

>[D]
(1) CyHy,

(2) HC=C®Na*

3)

“)

a5

Which complex compound is most stable?

(1) |:C0C12 (en)zJ NO,

@) | Co(NH;), | 5(s0,),
(3) |Co(NH,), (H,0)Br [(NO,),
(4) :Co(NH3)3(NO3)3]

Consider the following compounds/species :

ii.

Vi.

The number of compounds/species which obey
Huckel’s rule is
1 2
3) 4

O+

vii.

@ 5
) 6
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artufspanetl & Frfaiad 9 5 wr sifad Sarg [D]
Bl gEATT |

i) LIAIH, H,SO
CH;CHO H13Ojj >[A] —2

>[B]

HBr

>[C]

(1) CyHy,

>[D]

Na/grerger

(2) HC=C®Na'

-

DA A A e Afh @y § 7
(1) [CoCl2 (en)zJ NO,

(€))

“

@) |Co(NH,) | 5(s0,);

(3) | Co(NH,), (H,0)Br |(No,),

(4) :CO(NH3)3(N03)J

frfefaa diftret / ahsfier ot fame i

i i, @
8

T Tohel [TOH T UTEM i aTd gl [ avetie
B & T
(H 2
3 4

@) 5
4) 6
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94  Consider the following reaction :

QCH,O@

Identify products A and B.

HI
A A+B

(1) A=
(2) A=

(3) A=

@I
CH, and B= @ OH
CH,OH and B = @— I

Identify the major product obtained in the
following reaction :

©¢ AgNH)T+

3’OHA> major product

Toeleow

COO_ COO_

Given below are two statements :

Statement I : The nutrient deficient water bodies

lead to eutrophication.

Statement II : Eutrophication leads to decrease

in the level of oxygen in the water bodies.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Statement I is correct but Statement II is
false.

(2) Statement I is incorrect but Statement 11
is true.

3)

C)

) A=

O
@—CH3 and B =
O
O

95

96

Both Statement I and Statement I1 are true.
Both Statement I and Statement II are

false.
H6_ Hindi+English |

CH,I and B @— OH

22

94 fr=faRaa efyfsran ox foar #ifaa)

QCH o@

IAEI A 3R B @ gsaital

(1) A=®CHZI@RB©70H
Oremen-{

3) @ @OH

4) A=QCH20H@TB=©—I

Frrefaiaa sifvfear 9 uIa g&a Sde &l Jeaig ¢
0

———A+B

2) A= CH, iR B=

A= CH; 3fX B =

95

o +2[Ag(NH3)2J+ +

3-oH—2, IE S

@?@f

COO™ COO™

OH OH

A & 99 fau MU Y

w1 : Gve e oa Frem @ gur g 3
w11 : GUIoor § Sl § Sfeie bl @YX
e B

FUT T T HUAl & MUK WX A fqu T faweat
# H " I G

(1) =W 197 ¢ aig 4= 1 3@ 2|

(2) w1 3@d 7 wg w1 9 2|

(3) ® I X ®A 11 I 9 |

4) F1 1 3R F21 I I 3/ )

96
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Which amongst the following will be most
readily dehydrated under acidic conditions ?

)\‘/\OH
OH
OH

OH OH

@ g, C/j{\)\

Which of the following statements are
INCORRECT?

A. All the transition metals except scandium

form MO oxides which are ionic.

B. The highest oxidation number
corresponding to the group number in
transition metal oxides is attained in Sc,05
to Mn,O,.

Basic character increases from V,03 to
V,0, to V,0;s.

V,0, dissolves in acids to give VO?{ salts.

C.

D.

E. CrO is basic but Cr,O is amphoteric.
Choose the correct answer from the options
given below :

(1) C and D only
(3) A and E only

(2) B and C only
(4) B and D only

Pumice stone is an example of -
(1) solid sol (2) foam

(3) sol 4) gel

The equilibrium concentrations of the species
in the reaction A+ B=C+D are 2, 3, 10 and
6 mol L1, respectively at 300 K. AG® for the

reaction is (R =2 cal / mol K)
(1) —1381.80 cal (2) —13.73 cal

(3) 1372.60 cal  (4) —137.26 cal
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100

frfafad & ¥ - vt gRiafaal & qe9
e strar ¥ fsiferd gmm ?

H
(1) /Kf/\OH

OH

NO,

OH
NO, OH

3) M\CH3
H

OH OH

@ e

Frefafad & ¥ -9 BI9 T2 T &7

A. whfsgw & afafeam a@ d@saor gigd MO
STTeRITES ST & Sl ST Bld 2|

B. HYE W@ % WA ST SR HEAT HehoT

o7 asst o Sc,05 & Mn, O, & U arat
2

C. V,058 V,0, ¥ V,05 %l iR 91 W &d
T TEdT 2|

D. V,0, st ¥ gt VO, @@ Ia El

E. CrO &t & s&fd CryO; Iwged 31
9 few T faemedt & @ w6 SR ghhg

(1) daad C3iR D (2) %aw B ax C
(3) dad AR E (4) %aw B3R D

GHE T SaTA &
(1) o= g &
(3) wie @

(2) wH @&
(4) S@ &

300 K ux atfuftear A +B=C+D ¥ fisi= &1
GrTeT Figdid %9l 2, 3, 10 3K 6 mol L1 ¥
artufspar & fw AG® #: (R =2 cal / mol K)

(1) —1381.80 cal (2) —13.73 cal
(3) 1372.60 cal (4) —137.26 cal
[ Contd...



Botany : Section-A (Q. No. 101 to 135)

101

102

103

104

105

Identify the pair of heterosporous pteridophytes
among the following :

(1) Psilotum and Salvinia

(2) Equisetum and Salvinia

(3) Lycopodium and Selaginella

(4) Selaginella and Salvinia

The reaction centre in PS II has an absorption
maxima at

(I) 660 nm
(3) 680 nm

(2) 780 nm
(4) 700 nm

Identify the correct statements :

A. Detrivores perform fragmentation.

B. The humus is further degraded by some
microbes during mineralization.

C. Water soluble inorganic nutrients go down
into the soil and get precipitated by a
process called leaching.

D. The detritus food chain begins with living
organisms.

E. Earthworms break down detritus into

smaller particles by a process called
catabolism.
Choose the correct answer from the options
given below :
(1) C, D, E only
(3) A, B, C only

(2) D, E, A only
(4) B, C, D only

Family Fabaceae differs from Solanaceae and
Liliaceae. With respect to the stamens, pick out
the characteristics specific to family Fabaceae
but not found in Solanaceae or Liliaceae.

(1) Monoadelphous and Monothecous anthers
(2) Epiphyllous and Dithecous anthers

(3) Diadelphous and Dithecous anthers

(4) Polyadelphous and epipetalous stamens

Given below are two statements :

Statement I : The forces generated by

transpiration can lift a xylem-sized column of

water over 130 meters height.

Statement II : Transpiration cools leaf surfaces

sometimes 10 to 15 degrees, by evaporative

cooling.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Statement I is correct but Statement II is
incorrect.

(2) Statement I is incorrect but Statement 11
is correct.

(3) Both Statement I and Statement II are

correct.

(4) Both Statement I and Statement II are

incorrect.

H6_ Hindi+English |

24

101

102

103

104

105

frrfafed & @ fawmdome feege & g@ @
JEgIT -

(1) arEaeT dx arfEr

(2) sFfidlew SR areifrar

(3) rEBIGEgT AR fyddfiar

(4) Ryesfigar SR areifar

9 g 11 & aifHihar s &1 sraenuer iy fepasr oX
B 57

(I) 660 nm
(3) 680 nm

(2) 780 nm
(4) 700 nm

T HUA Bl JEATT -

A.  STURETET BU Bl Wied B 2|

B. %% g&q Sarvsii T gd ok eitte stomfed
Bl & 18 @il ®er o 2|

C. W@ gaslia Sfbraiies 9udh Ja1 § A g
S ¥ ofit srafa & o ¥ S femae wea
gl

D. 39T W {@e Siiad sial o S Bl 8 |

E. %3N 3(UiG &l Gisd &< Bl HUI # gad ol

% T8 oo wed ¥
I i@ W foewl § @ @& I g
(1) %a@ C,D,E (2) %aw D, E, A
(3) ®aw A,B,C (4) ®aw B, C, D

HIEr Fa, T ofi fafeer & fre 31 gpER %
ol & HaE o7 @ @ gTe o diaeEr ar
fafeeer & & g S|

(1) s @t 3R ThHIK! GRETHI

(2) ufted @ iR faisSl qRmmehisT

(3) feEdr & faaisd wmmeIST

(4) =g &t 3R @A™ gohay

e AW E

FA 1 IoNEee ¥ SO §d Ueh (I5AH ST &
W b W B 130 H. Far IS Ghar )

FoA 1 : aroratard Sfiae & g areieastT il
gael &l HN-HA 10-15 fei St ®ear )
e Bl % fawg ®, 9 @ faeedt ¥ @ @98
ST gMT

(1) =@ 198 % g ®a= 1 Tad 81

(2) ® 1 7@a & ug w9 1 @& )

(3) ®u I X F4= 11 I &&l

4) F= 1 3R = 1 I Toq &1
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Given below are two statements : One is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : Late wood has fewer xylary

elements with narrow vessels.

Reason R : Cambium is less active in winters.

In the light of the above statements, choose the

correct answer from the options given below :

(1) A is true but R is false.

(2) A is false but R is true.

(3) Both A and R are true and R is the correct
explanation of A.

(4) Both A and R are true but R is NOT the
correct explanation of A.

In the equation

|GPP — R =NPP|
GPP is Gross Primary Productivity
NPP is Net Primary Productivity
R here is .
(1) Respiratory loss
(2) Reproductive allocation
(3) Photosynthetically active radiation
(4) Respiratory quotient

What is the function of tassels in the corn cob?
(1) To disperse pollen grains

(2) To protect seeds

(3) To attract insects

(4) To trap pollen grains

Which hormone promotes internode/petiole
elongation in deep water rice?

(1) Ethylene (2) 2,4-D

(3) GAj (4) Kinetin

The phenomenon of pleiotropism refers to

(1) asingle gene affecting multiple phenotypic
expression.

(2) morethantwogenesaffectingasinglecharacter.

(3) presence of several alleles of a single gene
controlling a single crossover.

(4) presence of two alleles, each of the two
genes controlling a single trait.

What is the role of RNA polymerase III in the

process of transcription in Eukaryotes?

(1) Transcription of precursor of mRNA

(2) Transcription of only snRNAs

(3) Transcription of rRNAs (28S, 18S and
5.8S)

(4) Transcription of tRNA, 5 srRNA and
snRNA
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T2 < %o 5 T ¥ ue T wa A el

AT FT R % :

e FUR A UgTErE H @l arfemretl ard

IS WEdH ad & E

Fwor R : Gféal § Sfaam w0 e 2@ ¥

Iuded wUHl & fava ®, 9 e W faeedt & @ @@

I gy :

(1) A9d 2 9g R 3@ 2|

(2) A @™ ¥ UGg R 97 31

(3) A 3R RIA ¥ ¥ 3iX R, A &I T2 re
.

(4) AR RIA 7@ § ug R, A &l W1 =
T 7

At @i o

|GPP — R = NPP|
SLYLE. T wafie SdeddT |
T, A2 wafis IdehdT B
am (R) w4 &7
(1) 3@+ &
(2) 9T e
(3) webIgTEYNYT |iha fafeTor
(4) I8 TUiR

B B A Pad (q) B T B AT © 7
(1) T @1 faaa

(2) 9= @ TN B

(3) @ B BT BT

(4) UXTTRUT Bl GBS

TEX ST ATl arad H, B —a1 SAM q4/9d & T
@I oIl § 7

(1) T (2) 2,43

(3) GA; (4) @At

LU I Tl BT /T 3 2 7

(1) T% Uohd S 51 98 ¥ 399 Wel sifHeatea
B gaifad w1

(2) ¥ o1fye S Wl Th Thd WA bl FHITad
B T

(3) ThW WM b wgd ¥ wde (g fahed) @
IYRATT S Ueh Thd W [ b1 s
HIT 2

(4) < ueliar @ SuRafy, & B & ST T Tha
WA Bl R Bl 7

gHREe ¥ e @l uihar ¥ SR.UA.U.
wrferrst 111 &7 r fieer grar & ?

(1) mRNA & qoiel &1 Sigaes

(2) %@ snRNAs &1 srer@d

(3) rRNA (28S, 18S 3fiX 5.8S) &1 srer@
(4) tRNA, 5 srRNA 3R snRNA & aigeraT
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Expressed Sequence Tags (ESTs) refers to

(1) AIll genes
unexpressed.

whether expressed or

)
3)
)

Certain important expressed genes.
All genes that are expressed as RNA.
All genes that are expressed as proteins.

Unequivocal proof that DNA is the genetic
material was first proposed by

(1) Avery, Macleoid and McCarthy
(2) Wilkins and Franklin

(3) Frederick Griffith

(4) Alfred Hershey and Martha Chase

Among ‘The Evil Quartet’, which one is
considered the most important cause driving
extinction of species?

M
()
3)
)

Alien species invasions
Co-extinctions

Habitat loss and fragmentation
Over exploitation for economic gain

The thickness of ozone in a column of air in the
atmosphere is measured in terms of :

(2) Kilobase
(4) Decibels

(1) Decameter
(3) Dobson units

Which of the following stages of meiosis
involves division of centromere?

(1) Anaphase II (2) Telophase
(3) Metaphase I (4) Metaphase 11

Spraying of which of the following
phytohormone on juvenile conifers helps in
hastening the maturity period, that leads to early
seed production?

ey
)
3)
)

Zeatin

Abscisic Acid
Indole-3-butyric Acid
Gibberellic Acid

The process of appearance of recombination
nodules occurs at which sub stage of prophase
I in meiosis?

(1) Diplotene
(3) Zygotene

(2) Diakinesis
(4) Pachytene
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HH STIHT GSI HT § 7

(1) |+ <= i dr stfivege &id € an sifiegea
T B

FB Feaqul e S|

I gl S, S SRUAT % &9 ¥ atfee g
g

I gl o, I WM & w9 A sifHeged B

)
3

“

SIUA.Y. AN TaTd & 3HE [agaE i AT w6
EISICRETENEC DK

(1) wadl, Afeaiise M7 Achebrei

(2) fafea ot et

(3) Wsfia fifey

(4) omps B SR Al Ow

T Faree (st agss) § 9 fpd s faeos &
TEY AUl B AHT ST 87

(1) fagefr sfe=t @ smepaor

(2) wE-fagwan

(3) omaE™ afq ok fags

(4) onfe @ % fae sifaeres

AGATSH H A1g b Th W H SIS Dl A Bl
fope & AT S €7
(1) S&HRX

(3) sfewT gz

(2) TreEE
(4) 8w

frrfafad & & oreeEl favme 1 el e &
g forg @1 favme anfira %7

(1) wyaraen I (2) ST
(3) weaeRan | (4) weameRan 11

fohe QU BRAM @l TEU SigUrdl aedl X fsd
¥ I gdigeEar Sfe o Sl § | e O sl
9 IR B 22

(1) fofe

(2) usitas s

(3) $RI-3-erEite e

4) fossifas o

el fervrem & qatareen [ & fopa yrareen & qeter
TfYerd femmlt 3 @y € 7

(1) famee (2) urCTEE

(3) gmu (4) ¥
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Given below are two statements :

Statement I : Endarch and exarch are the terms

often used for describing the position of

secondary xylem in the plant body.

Statement II : Exarch condition is the most

common feature of the root system.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Statement I is correct but Statement II is
false.

(2) Statement I is incorrect but Statement 11
is true.

(3) Both Statement I and Statement II are

true.

(4) Both Statement I and Statement II are

false.

Upon exposure to UV radiation, DNA stained
with ethidium bromide will show

(1) Bright yellow colour

(2) Bright orange colour

(3) Bright red colour

(4) Bright blue colour

Frequency of recombination between gene pairs
on same chromosome as a measure of the
distance between genes to map their position on
chromosome, was used for the first time by
(1) Alfred Sturtevant

(2) Henking

(3) Thomas Hunt Morgan

(4) Sutton and Boveri

In gene gun method used to introduce alien DNA
into host cells, microparticles of

metal are used.

(1) Tungsten or gold

(2) Silver

(3) Copper

(4) Zinc

In tissue culture experiments, leaf mesophyll
cells are put in a culture medium to form callus.
This phenomenon may be called as :

(1) Development

(2) Senescence

(3) Differentiation

(4) Dedifferentiation

Which micronutrient is required for splitting of
water molecule during photosynthesis?

(1) magnesium (2) copper

(3) manganese (4) molybdenum
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RICRARC R E RO R T S

F | : HeATieaTed ofX Sl SNfeaTad IS &l IUAH,
gredt ® fadiae sgem @l Rufd &1 avie s & foo
fopam mar 2

Fo 11 : SErStiearedh 91 A Jerd=l &l q&ol
&

Swed wuAl % foawg #, 9 o faeedt § @ W@
I gy ¢

(1) == 198 & oty ®aA 11 o6 31

(2) w1 7@d ¢ 9y F4F 1 97 §)

3) F I &R F4= 11 I+ 9 2|

(4) w1 3R = 11 S+ o 2|

wfufeaw sigs & A ShuA. & g o fafeo
# ST BT X par fe@mdy am?

(1) a=ear e &

(2) TEHET ATCN T

(3) THBIET @ 1

(4) TEHEr e T

Teh & UGS WX S I o did GARTe @l Sghd
@ Sl % S B U & €9 H A B, TOEHH W
Il Rf 1 A9 1 ITRT qod g fopan o
qr?

(1) s weare

(2) ®bn

(3) ofE ¥ WO

(4) FA & I

T HifdTe # el SLUA.U. B AT B
% forg St = fafy o vga geq & foea a1g & 5=
TAE 7

(1) &TEA a1 @i

(2) =&

(3) diar

(4) foim

Tdd GIHT YA § UU Hedidqe BIISTeRIe bl Uk
e o Aresy ¥ e S99 & 6T @ T o139
T I FT HBET S Fohal & 7

(1) ufkaes

(2) wIErRn

(3) favew

4) ffadew

qE BT & UNH & S Tl WA & IR
WA o] % foraved & o smasa® ¥ 7

(1) FiferEw (2) drar

(3) A= (4) Wt
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Large, colourful, fragrant flowers with nectar
are seen in :

(1) bat pollinated plants

(2) wind pollinated plants

(3) insect pollinated plants

(4) bird pollinated plants

Given below are two statements : One is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : The first stage of gametophyte in

the life cycle of moss is protonema stage.

Reason R : Protonema develops directly from

spores produced in capsule.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) A is correct but R is not correct.

(2) A is not correct but R is correct.

(3) Both A and R are correct and R is the
correct explanation of A.

(4) Both A and R are correct but R is NOT the

correct explanation of A.

Cellulose does not form blue colour with Iodine
because

(1) It does not contain complex helices and
hence cannot hold iodine molecules.

It breakes down when iodine reacts with it.
It is a disaccharide.

It is a helical molecule.

)
3)
“)

Given below are two statements : One is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : ATP is used at two steps in
glycolysis.

Reason R : First ATP is used in converting
glucose into glucose-6-phosphate and second
ATP is used in conversion of fructose-6-
phosphate into fructose-1-6-diphosphate.

In the light of the above statements, choose the
correct answer from the options given below :
(1) A is true but R is false.

(2) A is false but R is true.

(3) Both A and R are true and R is the correct
explanation of A.

Both A and R are true but R is NOT the
correct explanation of A.

“)
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3, TNF, Gagad qa1 7o o 9L goF fepers
TG O "hd &7

(1) T9mEE qai| ureq

(2) ag R Ry

(3) @ e e

(4) uelt Ui aey

T &) U & T ¥ us FeaaeTE F R A AR

AR RE :

FyTae F0 A - 99 | gERIgAg Siad 9% Bl

TUH STl WM ¥ |

FRO R : 9] FEA H ST A & i W,

dremoyet @ @Y & fawfaa g ¥

Suda &l & fawe #, R @ W faeed ¥ |

ara| STY ga ¢

() A9 9g R 3@ 3|

(2) A 3Ed ¥ UGg R 97 31

(3) AR RGEH 9 ¥ oiX R, A &I T2l e
.

(4) AR RTA 9 % g R, A &l @& =
T B

IS, AN & | feee e T OFRl aan

BRI

(1) 399 Sfed el el Bl o A ST
B THSHL & TG Febell|

(2) IEEF ¥ SfHipar B 9X g8 fawfed &
ST §1

(3) 9T TH SEHARTES 3|

(4) T TH ediipd o ¥

A & B 5 T ¥ uh FeaaeE U9 A ® 3R

U FT R % :

feTaE U A TEEEIaE ® TG & SuET

3 gl o B B

FRO R : 980 T BT ST DA Bl TDHE-6-

wEhe ¥ gfted & fg e ¢ ok gEt Tt @

IUANT HaG-6-HEhE Bl Hhaed-1-6-S5HIERS F

gfad % foe ear 3

Sud HUAl & o H, T o T fawedt § @ 9

IaX g -

(1) Add 2 9g R 3@ 2|

(2) A @™ § ug R 9 2|

(3) A 3R RIA ¥ ¥ 3l R, A &I €21 re
.

(4) AR RIA 7@ § ug R, A &l &1 =
& )
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The historic Convention on Biological Diversity,
‘The Earth Summit’ was held in Rio de Janeiro

in the year :
(1) 1986 (2) 2002
(3) 1985 (4) 1992

Movement and accumulation of ions across a
membrane against their concentration gradient
can be explained by

(1) Passive Transport

(2) Active Transport

(3) Osmosis

(4) Facilitated Diffusion

Axile placentation is observed in

(1) Tomato, Dianthus and Pea

(2) China rose, Petunia and Lemon
(3) Mustard, Cucumber and Primrose
(4) China rose, Beans and Lupin

During the purification process for recombinant
DNA technology, addition of chilled ethanol
precipitates out
(1) Histones
(3) RNA

(2) Polysaccharides
(4) DNA

Among eukaryotes, replication of DNA takes
place in -

(1) G, phase
(3) M phase

(2) G, phase
(4) S phase

How many ATP and NADPH, are required for
the synthesis of one molecule of Glucose during
Calvin cycle?

(1) 12 ATP and 16 NADPH,

(2) 18 ATP and 16 NADPH,

(3) 12 ATP and 12 NADPH,

(4) 18 ATP and 12 NADPH,

In angiosperm, the haploid, diploid and triploid
structures of a fertilized embryo sac sequentially
are :
(1) Synergids, Zygote and Primary endosperm
nucleus

Synergids, antipodals and Polar nuclei
Synergids, Primary endosperm nucleus and
zygote

Antipodals, synergids, and primary
endosperm nucleus

)
3)

“)
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Sia fafauar ox Ufveifes g <o gftme far
fs oy & fem ad & gam ar?
(1) 1986 (2) 2002
(3) 1985 4) 1992

ool % AU TigdT Yavurar & foeg omaat &
g R T B & fhan T a0 e @ .
bl & 7

(1) fieea uftass

(2) ufea uf@e

(3) T

(4) g faawm

Wiy S fead <@ ST Gear § 7
(1) ZHRx, sEuyad ofik #eX

(2) e, fugfan e g

(3) =i, @ iR e

(4) TEEW, 9 SR ghw

YGTTS S1.UA.T. T W JEIB Uihar % R
sfiae soTe e oraafa &ean & 7

(1) Rem (2) dUIdEBES

(3) smuAY 4) A

gH{EE o U BT YapiaaT w9 &ar & ?
(1) G, (2) G, sr@eEn

(3) T I (4) Td e

Hice b b QA TBE b Th A b GIATIT %
faw fba ATP it NADPH, @I smasasdr il
g7
)
€))
3
“

Mgqds el ¥ UH ufad quey % ST,

femgfora ofik BRI wHer: BE-ar & 7

(1) G HIfTHE, AT 3R YTeafies Yoy Hsch

(2) e HvHE, gl e ok gar
Hah

(3) wEE HIIHR, Wrfs Yoy hadh 3N Fro

(4) yfqeamEia BIfvhRi, TeTd HIH it wafie
YU h5h

12 ATP 3fX 16 NADPH,
18 ATP &R 16 NADPH,
12 ATP &R 12 NADPH,
18 ATP R 12 NADPH,
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Match List I with List II :

List I List 11
(Interaction) (Species A and B)
A. Mutualism . +(A), O(B)
B. Commensalism 1. —(A), O(B)
C. Amensalism L. +(A), —-(B)
D. Parasitism V. +(A), +(B)

Choose the correct answer from the options
given below :

(1) A-1V, B-III, C-1, D-1I

(2) A-I, B-I, C-1V, D-1I

(3) A-1V, B-II, C-1, D-III

4) A-1V, B-1, C-II, D-1II

Match List I with List IT :

List I List 11
A. Tron [.  Synthesis of auxin
B. Zinc II. Component of
nitrate reductase
C. Boron III. Activator of catalase
D. Molybdenum IV. Cell elongation

and differentiation
Choose the correct answer from the options given
below :
(1) A-II, B-I, C-1V, D-1I
(2) A-IL, B-1V, C-1, D-III
(3) A-II, B-II, C-I, D-IV
(4) A-II, B-II, C-1V, D-1

Identify the correct statements :

A. Lenticels are the lens-shaped openings
permitting the exchange of gases.

B. Bark formed early in the season is called
hard bark.

C. Bark is a technical term that refers to all
tissues exterior to vascular cambium.

D. Bark refers to periderm and secondary
phloem.

E. Phellogen is single-layered in thickness.

Choose the correct answer from the options given
below :

(1) A, B and D only

(2) B and C only

(3) B, C and E only

(4) A and D only

Which of the following combinations is required

for chemiosmosis?

(1) proton pump, electron gradient, ATP
synthase

(2) proton pump, electron gradient, NADP
synthase

(3) membrane, proton pump, proton gradient,

ATP synthase

(4) membrane, proton pump, proton gradient,

NADP synthase
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T I & g 1 % | gafad Hifeg

Tl T 10

(T i) (@ A &R B)
A. GRYHIE I.  +A), OB)
B. wEwifwar .  —(A), O(B)
C. JiqwmE qteitaar L. +(A), «(B)
D. Ysifean IV. +A), +B)

T o ™ et § ¥ @ S g ¢

(1) A-1vV, B-II, C-I, D-lI
(2) A-IIL B-I, C-IV, D-II
(3) A-1V, B-II, C-1, D-1II
(4) A-IV, B-I, C-II, D-III
T 1 & g 1 & |y gafdd Sy ¢

Lo T 11
A. @E I onfera &1 dyuo
B. i II. e eaed &1 9o
C. €™ 1. el &1 Alshamih
D. Hifes™ IV. &3 &1 @

3T favew
o fd T e ¥ ¥ W@ v ghi
(1) AL, B-I, C-IV, D-II
(2) AL, B-1V, C-1, D-III
(3) AL B-II, C-I, D-IV
(4) A-IL B-III, C-1V, D-I

Hﬁiﬁu’fﬁﬁ%ﬂlﬁm:
A. Y W9 b SRR & % e & S A4 @
AN Y& ®id £

B. HEH & Wre9 ¥ S BIA & $HoX BIA HEl
ST

C. B TH dh-ihl & & o Gagl HAET
T F T Habl b I ¥ Yga Bl 8

D. B[, 9i@d o fadas wem & de4 § uga
BT 1

E. 0o AICE ¥ Th 9id &l &l &

T @ W faewl § 9 @& 9 ghhg
(1) ®aa A, B3R D

(2) waw B sk C

(3) waw B, C siR E

(4) wad AR D

ffaiad o & SF-—a1 GEEISH THEG g
% fau emasas 32

(1) WS U, 3ed gaurar, Tagn fagm

(2) WEN W, 3eag yauar, oA dn fide
(3) foeell, WS 9=, WN yavrar, TaLd fagw
(4) foeel, WM T, Yo gavar, TS figm
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DNA are given below. Arrange these steps in a

correct sequence.

A. Insertion of recombinant DNA into the host
cell.

B. Cutting of DNA at specific location by
restriction enzyme.

C. Isolation of desired DNA fragment

D. Amplification of gene of interest using PCR.

Choose the correct answer from the options given

below :

(1) C,B,D,A

3) B,C, D, A 4 C,A,B,D

Given below are two statements : One is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A In gymnosperms the

pollen grains are released from the

microsporangium and carried by air currents.

Reason R : Air currents carry the pollen grains

to the mouth of the archegonia where the male

gametes are discharged and pollen tube is not

formed.

In the light of the above statements, choose the

correct answer from the options given below :

(1) A is true but R is false.

(2) A is false but R is true.

(3) Both A and R are true and R is the correct
explanation of A.

(4) Both A and R are true but R is NOT the

correct explanation of A.

(2) B,D, A, C

Melonate inhibits the growth of pathogenic
bacteria by inhibiting the activity of

(1) Lipase

(2) Dinitrogenase

(3) Succinic dehydrogenase

(4) Amylase

Which of the following statements are correct

about Klinefelter’s Syndrome?

A. This disorder was first described by
Langdon Down (1866).

B. Such an individual has overall masculine
development. However, the feminine
development is also expressed.

C. The affected individual is short statured.

D. Physical, psychomotor and mental
development is retarded.

E. Such individuals are sterile.

Choose the correct answer from the options

given below :

(1) B and E only

(3) A and B only

(2) A and E only
(4) C and D only
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AN SLUA.. & AW &% geg 9w A il ™

21 3% 92 B9 W argd s

A, T BT F GTARTS ST, B &

B. U4 T=TEH g1 SIUAT &l U fafire @
T Tl

C. difsa SiTAY @S &l gu&H HAl

D. WEL.HRX. & IYGM &I Y AT S B
CICEE]

I @ W faedl § @ 98 I g

(1) C, B, D, A (2) B, D, A, C

3) B,C,D,A 4 C, A B, D

A 3 By Y ™ ¥ us MaaE FaH A ® 8l
TEAFTRE :

AT F9F A SFEAEIS qedl J 9T S gaH

ASET | Ho B0 & S a1g 9T &1 W S

Sic RS

w01 R : 91g 910 9T HO B SIEH b J@ T

W S E, SR R gHE B ¥ S § iR W

ot 1 fmtor T2 gra

Iude HeAl & e ®, I Rl N famedt § 9w

IO gy

(1) AdF e 9g R @A 2|

(2) A 3Ed % ug R 9 2|

(3) A X RIH 9@ € &iX R, A %l W&l =
gl

(4) A X RIA 9 ¥ 9g R, A &l @& =
T 7

Hare foraen! Aihaar ol Udhd, WTHRH STt
1 ghg & Ahar &7

(1) s

(2) ST

(3) @it SR

(4) THTEES

Fi-theed g & fawg § &9 s g8 £ 7

A. 39 f9®R & 9ui 998 gea aei S8 (1866)
a3 fepam am

B. T# wfrd § SEmuedn "X aiad| gar ®
TEh! AIGT qgds o7 =g g |

C. vwifad =i BIE bR &l Bar §1

D. 9mifies, TgdmIe 8l AR [qer ©ah ST
]

E. U9 =fr o9 B4 2|

I @ ™ fyea § @ @@ sx g

(1) %ad B3RE (2) ®%aw ASIRE
3) ®a@ AIRXB (4) waw C XD
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Match List I with List II :
List I

Oxidative L.
decarboxylation
Glycolysis

List 1T

Citrate

synthase
Pyruvate
dehydrogenase
Electron
transport system
EMP pathway

A.

B. II.

C. Oxidative 1.
phosphorylation
Tricarboxylic
acid cycle
Choose the correct answer from the options given
below :

(1) A-lI, B-I, C-lI, D-IV

(2) A-I, B-1V, C-lII, D-I

(3) A-IIL B-1V, C-II, D-I

(4) A-IL B-1V, C-1, D-III

Which one of the following statements is NOT
correct?

(1) Water hyacinth grows abundantly in
eutrophic water bodies and leads to an
imbalance in the ecosystem dynamics of
the water body.

The amount of some toxic substances of
industrial waste water increases in the
organisms at successive trophic levels.
The micro-organisms involved in
biodegradation of organic matter in a
sewage polluted water body consume a lot
of oxygen causing the death of aquatic
organisms.

Algal blooms caused by excess of organic
matter in water improve water quality and
promote fisheries.

Match List I with List II :

List I List 1T

M Phase I.  Proteins are
synthesized
Inactive phase
Interval between
mitosis and
initiation of DNA
replication
Equational
division

Choose the correct answer from the options given
below :

(1) A-1V, B-I, C-II, D-III

(2) A-IIL, B-1V, C-I, D-1II

(3) A-III, B-II, C-1V, D-I

(4) A-1V, B-II, C-1, D-1II
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C.

G, Phase
Quiescent
stage

II.
II.

D. G, Phase IV.
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T L& g 1 % | gafad Sy
T 1 T 11

A.  eraERfea I fage fadw
EICAEIERITHE]

B. wEewEig 1L ugede it

C. ot I seiegE afeaed a=
BRI

D. ¢EeEitEae V. 30949 aigy
3T Tk

S R T e ¥ 4 W T gh
(1) A-IIL, B-I, C-II, D-IV
(2) A-IL, B-1V, C-III, D-I
(3) A-IIL, B-1V, C-II, D-I
(4) A-Il, B-1V, C-1, D-III

frrfafad & & B BT wE T ¥ ?

(1) gufa STage & @ o7 & eifase ghs @
STrer # wids fd § srEge et B 5|
aienfires arfyre o & $ fadd gardl Bea
Y U A WX 0T SHal H Fead B
gfed 7@ ¥ UGN Sy H Sifas gardt @
AT HT ATl GEsia STf¥eh SeriIor
wd § e S Sl @ g # S 2

)

3

4) o ® erfafied Sfae uarat & wrwr Saw
T BT & Sl ST b TN Bl S+ BT &
3T B % ggTar ar §1
T L & I % g gafad s
T T 10
A. M wrERen I OEEl & "eawo
B. G, wreren II.  feha arereen
C. qiid sreen L. |9gaT S
fawrsm ek
S1.UA.U. Yfaegiaad
& TeH B % 4™
AT

D. G, s@en IV. &% fqameH

A @ W fgeel § ¥ 98 ST gy ¢
(1) A-IV, B-I, C-II, D-III
(2) A-Il, B-1V, C-1, D-III
(3) A-IIL B-II, C-1V, D-I
(4) A-IV, B-II, C-1, D-III
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Given below are two statements : One is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : A flower is defined as modified

shoot wherein the shoot apical meristem changes

to floral meristem.

Reason R : Internode of the shoot gets

condensed to produce different floral appendages

laterally at successive nodes instead of leaves.

In the light of the above statements, choose the

correct answer from the options given below :

(1) A is true but R is false.

(2) A is false but R is true.

(3) Both A and R are true and R is the correct
explanation of A.

(4) Both A and R are true but R is NOT the
correct explanation of A.

Match List I with List II :

List I List II
A. Cohesion I.  More attraction in
liquid phase
B. Adhesion II. Mutual attraction
among water
molecules
C. Surface III. Water loss in
tension liquid phase
D. Guttation IV. Attraction towards

polar surfaces
Choose the correct answer from the options
given below :
(1) A-III, B-I, C-1V, D-II
(2) A-I, B-I, C-1V, D-II
(3) A-I, B-1V, C-1, D-II
(4) A-1V, B-1IL, C-II, D-I

Given below are two statements :

Statement I : Gause’s ‘Competitive Exclusion

Principle’ states that two closely related species

competing for the same resources cannot co-

exist indefinitely and competitively inferior one

will be eliminated eventually.

Statement II : In general, carnivores are more

adversely affected by competition than

herbivores.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Statement I is correct but Statement II is
false.

(2) Statement I is incorrect but Statement I1
is true.

(3) Both Statement I and Statement I are true.

(4) Both Statement I and Statement II are
false.

How many different proteins does the ribosome
consist of?
(1) 40
3) 80

2) 20
4) 60
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T & Bue T T ¥ - s emaerE w9 A T el

WA R RE :

frewaTeTE FU A UH JW HI ®UCAHT o b &9 F

afenfirg fopar smar & e we aftes @ afads

quiry Afes ¥ & W

FRO R : TUT & U4 UG Tib] SAl gat X

T % Seg fafe= gedE Iui e B 2|

S Bl % e H, 9 g ™ faee § @ @@

ST gMT

(1) A¥d ¢ 9y R 3@ 3|

(2) A @™ ¥ Ug R 97 3|

(3) AR RGSH @ § oiX R, A &I @&l e
.

(4) AR RIA g € Uty R, A % 921 =men
T ¥

T I & T 1 & ary gafaa s
T 1 T 11
A. gEsH [ 39 ol 9 aardhd
e Sy
B. oS I ¥ evjel & s
T TR
C. g q @ Il 59 Sfaen § S &l 8

D. fag @ IV. e qael @l 3T Sy
T A W faedd § ¥ @@ s gy ¢

(1) AL, B-I, C-1V, D-II

2) A-IL B-L, C-1V, D-1II

(3) A-IL B-1V, C-1, D-1II

(4) A-IV, B-II, C-II, D-I

BIE AR DE RO SN

w1 T F Wt oesH W % SHER U6
A gd & fau wal @ aer @ e @
Sfal oFd B q% Wg-wd el W@ dabdl i
wdt vy ¥ e wfq efqa: faga & i 2
FA 11 : AUROEET SMHEIE! Bl T @l
Wyl g Sega e gwifad e ¢ |

Ut ol % e , T T T faeedt & & @
ST gT

(1) =@ 198 % g & 11 o9 B

(2) ® 1 7Ed & U w9 1 T 7

3) F I X F4= 11 I 9 2|

4) F= 1 R F= 11 I o

TEEEE ¥ faw - gew B ¥ 7
(1) 40 2) 20
(3) 80 “4) 60
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Which one of the following techniques does not
serve the purpose of early diagnosis of a disease
for its early treatment?

(1) Polymerase Chain Reaction (PCR)
technique

)

Enzyme Linked Immuno-Sorbent Assay
(ELISA) technique

(3) Recombinant DNA Technology

“)

Serum and Urine analysis

Given below are two statements:

Statement I: Vas deferens receives a duct from
seminal vesicle and opens into urethra as the
ejaculatory duct.

Statement II: The cavity of the cervix is called
cervical canal which along with vagina forms
birth canal.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is correct but Statement II is
false.
Statement I incorrect but Statement II is
true.
Both Statement I and Statement II are
true.

Both Statement I and Statement II are
false.

)
3)
“)

Match List I with List II.

List I List II
A. Taenia I.  Nephridia
B. Paramoecium 1l. Contractile vacuole
C. Periplaneta III. Flame cells
D. Pheretima IV. Urecose gland

Choose the correct answer from the options give
below:

(1) A-IIL B-II, C-1V, D-I
(2) A-IL, B-L, C-1V, D-III
(3) A-L B-II, C-III, D-IV
(4) A-L B-IL, C-1V, D-III

Which one of the following common sexually
transmitted diseases is completely curable when
detected early and treated properly?

(1) Hepatitis-B (2) HIV Infection
(3) Genital herpes (4) Gonorrhoea
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1 o 9 B dbIH T U & YRS ST &
fog urifves frem o Suar T2 & 7

(1) demE 9= RowE (FEem) aaedis

(2) USEH He@™ WfaXe SNueh SHa (Tergst)
(3) gErT Sy et

(4) drw e g fasawo

I &1 B faw T ¥

Fo I: ghdated PRI ¥ U dlfel W< Il §
3R ATl H W@eg dffel & ®9 H gaAdl ¢
Fu 11: afded &1 1 &t afded A ded & o
A &% A T @ S S

ST HUA! b Yoblel H, A fau g et § @ wé
IO BN TIT B

() #[19d 2 wfeT A 11 39 §)
(2) w1 3@ T Wit Fa= 1 9 2|
() < wH I wd I & E
(4) = w@ I wd I o )

T I & g I & |y gafad s

T 1 T 11
A.  Afrar . Ik
B. Eifrm . dgaasia g
C. gft@der 1. Sarar Hifdrend
D. wifeHr V. gl vt

= fasedl @ @& SO ® T9F B
(1) A-IIL B-II, C-IV, D-I
(2) A-Il, B-I, C-1V, D-III
(3) A-L, B-IL, C-III, D-IV
(4) A-L, B-II, C-1V, D-III

= § 9 B g 9 9 g9t T @ aig steal
AT T Y T IAHT S A ITAR & S A goiat:
A & Thd 7

(1) wpasta-B
(3) e afad

(2) TTSTEET HHAT
4) gos
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Given below are two statements: one is labelled

as Assertion A and the other is labelled as

Reason R.

Assertion A: Amniocentesis for sex

determination is one of the strategies of

Reproductive and Child Health Care Programme.

Reason R: Ban on amniocentesis checks

increasing menace of female foeticide.

In the light of the above statements, choose the

correct answer from the options given below:

(I) A is true but R is false.

(2) A is false but R is true.

(3) Both A and R are true and R is the correct
explanation of A.

(4) Both A and R are true and R is NOT the

correct explanation of A.

Given below are two statements:

Statement I: In prokaryotes, the positively
charged DNA is held with some negatively
charged proteins in a region called nucleoid.
Statement II: In eukaryotes, the negatively
charged DNA is wrapped around the positively
charged histone octamer to form nucleosome.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is correct but Statement II is
false.

Statement I incorrect but Statement II is
true.

Both Statement I and Statement II are
true.

Both Statement I and Statement II are
false.

)
3)
)

Match List I with List II.
List I List II
A. Heroin . Effect on
cardiovascular system
II. Slow down body function
II1. Painkiller
IV. Interfere with transport of
dopamine
Choose the correct answer from the options
given below:
(1) A-1V, B-11I, C-II, D-I
(2) A-lI, B-1V, C-1, D-II
(3) A-I, B-I, C-1V, D-II
(4) A-L B-lI, C-II, D-IV

B. Marijuana
C. Cocaine
D. Morphine
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(1) A g% dfeT R 39 21

(2) A IEd § @fed R 99 2|

(3) Awd R @ ¥ ud R, A &l 9l =aren &1

(4) Awd R34 & Td R, A %l 981 e e
E

9 & wyw fou o ¥

F I Mpfifes § oo A SieTy 3
FOTh STETT WIEN! & A1 9T Th & e
HEHIY HEd €, § L&l B

o 1L: YT § FOMEd AR ST SHToD
ST R areeh o a1l MR feueeh T ~gferearae
A 2

SUged HUA! b YehIeT |, Ara oy Ty faeedt 7 @ W@
T & I B

() #[ 19 2 wfeT A 1 39 §1
(2) ® 1 oA ¢ WfhT &= 11 9
(3) == = I wd II 9 ¥
(4) o= w1 wd I 3 2

T I & g I % |y gafad &
Tl T 10
A. s [ %< el o 9X gHa
B. #ftgemr Il 9OR & vl @
T B
C. @ihT Il <@dfers
D. #@r%H IV. SU¥E % qi@sd o aren

T feu U faeed § 98 IO @ 99T B
(1) A-IV, B-III, C-II, D-I
(2) A-III, B-1V, C-I, D-II
(3) A-IL, B-I, C-1V, D-1II
(4) A-1, B-II, C-III, D-IV
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Given below are two statements: one is labelled
as Assertion A and the other is labelled as
Reason R.

Assertion A: Endometrium is necessary for
implantation of blastocyst.

Reason R: In the absence of fertilization, the
corpus luteum degenerates that causes
disintegration of endometrium.

In the light of the above statements, choose the
correct answer from the options given below:

(I) A is true but R is false.

(2) A is false but R is true.

(3) Both A and R are true and R is the correct
explanation of A.

(4) Both A and R are true but R is NOT the

correct explanation of A.

Select the correct group/set of Australian
Marsupials exhibiting adaptive radiation.

(1) Mole, Flying squirrel, Tasmanian tiger cat
(2) Lemur, Anteater, Wolf

(3) Tasmanian wolf, Bobcat, Marsupial mole
(4) Numbat, Spotted cuscus, Flying phalanger

Which of the following statements is correct?
(1) Presence of large amount of nutrients in
water restricts ‘Algal Bloom’

(2) Algal Bloom decreases fish mortality

(3) Eutrophication refers to increase in
domestic sewage and waste water in lakes.
Biomagnification refers to increase in
concentration of the toxicant at successive
trophic levels.

)

Which of the following are NOT considered as
the part of endomembrane system?

A. Mitochondria

B. Endoplasmic Reticulum

C. Chloroplasts

D. Golgi complex

E. Peroxisomes

Choose the most appropriate answer from the
options given below:
(1) A and D only
(3) B and D only

(2) A, D and E only
(4) A, C and E only

Which of the following is not a cloning vector?
(1) pBR322 (2) Probe
(3) BAC (4) YAC
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(1) pBR322 2) "
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[ Contd...



163

164

165

H6_

Which of the following statements are correct

regarding female reproductive cycle?

A. In non-primate mammals cyclical changes
during reproduction are called oestrus cycle.

B. First menstrual cycle begins at puberty and
is called menopause.

C. Lack of menstruation may be indicative of
pregnancy.

D. Cyclic menstruation extends between
menarche and menopause.

Choose the most appropriate answer from the

options given below:

(1) A, B and C only

(2) A, C and D only

(3) A and D only

(4) A and B only

Match List I with List II.

List I List II
A. P - wave I.  Beginning of systole
B. Q - wave II. Repolarisation of
ventricles
Depolarisation of atria
Depolarisation of
ventricles
Choose the correct answer from the options
given below:
(1) A-Il, B-1V, C-1, D-III
(2) A-L B-I, C-II, D-IV
(3) A-I, B-I, C-1V, D-1I
(4) A-1V, B-III, C-1I, D-I

Match List I with List II.
List I List IT
(Interacting species) (Name of Interaction)
A. A Leopard and a I.  Competition
Lion in a forest/grassland
B. A Cuckoo laying II. Brood
egg in a Crow’s nest parasitism
C. Fungi and root of a higher III. Mutualism
plant in Mycorrtizae
D. A cattle egret and
a Cattle in a field
Choose the correct answer from the options
given below:
(1) A-lI, B-1V, C-1, D-1I
(2) A-I, B-II, C-1I, D-IV
(3) A-L B-II, C-III, D-IV
(4) A-L B-I, C-1V, D-lII

Hindi+English |

C. QRS complex III.
D. T - wave IV.

IV. Commensalism
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A, AT-UIEHe WA et § ST % QO T
fad=l @ 362q g% HEd B

B. ¥uq %gE@ % dEAH 9 gF 1 & fE
TG @ed 2|

C. *JEE & STURATT TIHAT & g |

D. 9% Fgad TWReE d WHga b eidm s

T faw o fodedt § 9 wad Shua ST &1 99 B |

(1) ¥%a@ A, Bwa C

(2) ¥ad A, Cwd D

(3) %a@ ATwd D
(4) %a@ Awd B
T 1 & ' I % | gafad &

Tl T 10
A, P-T@ I v&aT &1 ARy
B. Q- au . fear & srga
C. QRS @fHAg 1. erfeal @1 fageo
D. T-a Iv. fret & fagao

A feu Tu faeedt § @ @ SAX @ 99e HA|

(1) A-II, B-1V, C-1, D-III

(2) A-l, B-II, C-III, D-1V

(3) A-III, B-I, C-1V, D-II

4) A-1V, B-lII, C-II, D-1

T I & I % | gafad s
Tl 1 T 11
(anfar sravtsRa) (s=r=afeRa 1 <)

A THTEAE B ATH H L W
T & 9

B. T Th T & 1. S gLsitear
Hige ¥ of2 a1

C. #AEaEel ¥ ®as w1l Geuswiar
ST uredl % qW

D. UTH 9N 9g-9@l gd V. dewitsar
wd ¥ 9T ug)

A i Tu faeedt § € @ S @ 99e HA|
(1) A-II, B-1V, C-I, D-II
(2) A-IL, B-III, C-1, D-IV
(3) A-L B-IL, C-III, D-IV
(4) A-1, B-II, C-1V, D-III
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Given below are two statements:

Statement I: A protein is imagined as a line,
the left end represented by first amino acid
(C-terminal) and the right end represented by
last amino acid (N-terminal)

Statement II: Adult human haemoglobin,
consists of 4 subunits (two subunits of ¢ type
and two subunits of 3 type.)

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is true but Statement I1 is false.
(2) Statement I is false but Statement II is true.
(3) Both statement I and Statement II are true.
(4) Both statement I and Statement II are false.

Given below are two statements:

Statement I: RNA mutates at a faster rate.

Statement I1: Viruses having RNA genome and

shorter life span mutate and evolve faster.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Statement I is true but Statement II is
false.

(2) Statement I false but Statement II is true.

(3) Both Statement I and Statement II are
true.

(4) Both Statement I and Statement II are
false.

Radial symmetry is NOT found in adults of
phylum .
(1) Coelenterata
(3) Ctenophora

(2) Echinodermata
(4) Hemichordata

Given below are statements: one is labelled as

Assertion A and the other is labelled as

Reason R.

Assertion A: Nephrons are of two types: Cortical

& Juxta medullary, based on their relative

position in cortex and medulla.

Reason R: Juxta medullary nephrons have short

loop of Henle whereas, cortical nephrons have

longer loop of Henle.

In the light of the above statements, choose the

correct answer from the options given below:

(1) A is true but R is false.

(2) A is false but R is true.

(3) Both A and R are true and R is the correct
explanation of A.

(4) Both A and R are true but R is NOT the
correct explanation of A.
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Once the undigested and unabsorbed substances
enter the caecum, their backflow is prevented by-
(1) Gastro - oesophageal sphincter

(2) Pyloric sphincter

(3) Sphincter of Oddi

(4) lleo - caecal valve

Match List I with List II.

List I List 1T
A. CCK [.  Kidney
B. GIP II.  Heart
C. ANF III. Gastric gland
D. ADH IV. Pancreas

Choose the correct answer from the options
given below:

(1) A-IL B-1V, C-I, D-III

(2) A-1V, B-II, C-lII, D-I

(3) A-IV, B-II, C-II, D-I

(4) A-I, B-1I, C-1V, D-I

Broad palm with single palm crease is visible in
a person suffering from-

(1) Klinefelter’s syndrome

(2) Thalassemia

(3) Down’s syndrome

(4) Turner’s syndrome

Match List I with List II.

List I List 1T
A. Ringworm 1. Haemophilus influenzae
B. Filariasis Il.  Trichophyton
C. Malaria HI. Wuchereria bancrofti
D. Pneumonia [IV. Plasmodium vivax

Choose the correct answer from the options
given below:

(1) A-II, B-I1I, C-I, D-IV

(2) A-IIL, B-II, C-1V, D-I

(3) A-II, B-II, C-1V, D-1

(4) A-IL, B-III, C-I, D-IV

Given below are two statements:

Statement I: Ligaments are dense irregular

tissue.

Statement II: Cartilage is dense regular tissue.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Statement I is true but Statement II is
false.

(2) Statement I is false but Statement II is
true.

(3) Both Statement I and Statement II are

true.

(4) Both Statement I and Statement II are

false.
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(1) A-IL B-1V, C-1, D-III
(2) A-IV, B-II, C-I1I, D-I
(3) A-1V, B-III, C-II, D-I
(4) A-1II, B-II, C-IV, D-I
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(1) A-lI, B-II, C-I, D-IV
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(3) A-II, B-III, C-1V, D-1
4) A-II, B-lII, C-I, D-IV
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175 Match List I with List II.

List I
A. Gene ‘@’
B. Gene %y’
C. Gene ‘1’
D. Gene ‘Z’

List II

I.  B-galactosidase

II.  Transacetylase
I11.
IV. Repressor protein

Permease

Choose the correct answer from the options

given below:

(1) A-IlL, B-1V, C-1, D-Il
(2) A-IL B-I, C-1V, D-II
(3) A-IL B-I, C-1V, D-1II
(4) A-Il, B-III, C-1V, D-1I

176

Given below are two statements:

Statement I: Electrostatic precipitator is most
widely used in thermal power plant.

Statement II: Electrostatic precipitator in
thermal power plant removes ionising radiations
In the light of the above statements, choose the
most appropriate answer from the options given

below:

Q)
)
3)
“)

incorrect.
correct.
correct.
incorrect.
177
eye.

List I
A. Fovea I.

B. Iris I1.

C. Blind spot

D. Sclera

1.

IV.

Statement I is correct but Statement II is
Statement I incorrect but Statement II is
Both Statement I and Statement II are

Both Statement I and Statement II are

Match List I with List IT with respect to human

List II

Visible coloured portion
of eye that regulates
diameter of pupil.
External layer of eye
formed of dense
connective tissue.

Point of greatest visual
acuity or resolution.
Point where optic nerve
leaves the eyeball and
photoreceptor cells

are absent.

Choose the correct answer from the options

given below:
(H
2
(3)
4)
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A-I, B-1V, C-1II, D-II
A-II, B-I, C-II, D-IV
A-III, B-1I, C-IV, D-II
A-1V, B-II, C-II, D-I
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B. W9 ‘@i’ II. ZEudREds
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A fiu U faeeal ¥ @ W@ SO B g9 HA
(1) A-II, B-1V, C-I, D-lI
(2) A-III, B-1, C-1V, D-II
(3) A-II, B-I, C-1V, D-III
4) A-II, B-III, C-1V, D-1
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F L: A sraafs a faega & § e w9 9
SR § AT S §

w11 19 fogqa &9 § g STaais S
fafepor @t geran 1

I HUAl & TBIe ¥ A fau T fawedt § 9w
IAC B TIT B

() == 19 & Afpd w11 38 7

(2) ®=F 1 o9 ¢ AfhT w11 9 T

(3) == = I ud II 9 %)

(4) o= w1 wd I s 2

AT 7= & dag § T 1 B g 1 & a1y gatad
H

T I

wifean L.

@ 11

SERCARACEED T E |
AR S a6 | B
Frafa & ®

A B IE UG A g
TS Sah ol §ol

Bl B

HAfehad g9d dreuTar al
faves =1 fag)

fag 5ot 9 3@ — dfsa
T 1 Bredl &

3T =T wabIeT WA
HIRTHT SguRRerd Bt 2 |
T fau T fqeen § @€ SO @ 99T B
(1) A-l, B-1V, C-1II, D-II

(2) A-II, B-I, C-II, D-IV

(3) A-III, B-I, C-1V, D-II

4) A-1V, B-III, C-II, D-1

A.
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In which blood corpuscles, the HIV undergoes
replication and produces progeny viruses?

(1) Basophils (2) Eosinophils

(3) Ty cells (4) B-lymphocytes

Which of the following functions is carried out
by cytoskeleton in a cell?

(1) Motility

(2) Transportation

(3) Nuclear division

(4) Protein synthesis

Given below are two statements:

Statement I: Low temperature preserves the
enzyme in a temporarily inactive state whereas
high temperature destroys enzymatic activity
because proteins are denatured by heat.
Statement II: When the inhibitor closely
resembles the substrate in its molecular structure
and inhibits the activity of the enzyme, it is
known as competitive inhibitor.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is true but Statement II is
false.

Statement I is false but Statement II is
true.
Both Statement I and Statement II are
true.

Both Statement I and Statement II are
false.

2
3)
“)

Match List I with List II.

List I List 11
A. Vasectomy [.  Oral method
B. Coitus II.  Barrier method
interruptus

C. Cervical caps IIl. Surgical method
D. Saheli IV. Natural method

Choose the correct answer from the options
given below:

(1) A-IL B-II, C-I, D-IV
(2) A-1V, B-II, C-1, D-II
(3) A-II, B-I, C-IV, D-II
(4) A-IIL B-1V, C-II, D-I
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BT W T BoTEel § TSNSl UiGPia war ©

i wafa fawmyy ¥a1 ar €7
(1) swiftee & (2) sonfasiieel &
(3) Ty®R@Eid  (4) B-adee o

Frfafed & &M w1 & Fifvee § wEaus &7
fepam iram & ?

(1) ife

(2) uf@es

(3) wwmE faumm

(4) WM "gery

SIEESEC ORI DI

FoA I: =1 qmueen doisy &1 s w9 ¥ fafeeg
el ¥ gl T@dl ¢ | el Sed qrashd USigd
7 fopansiierar ol = &Y IaT ¥ | i S ¥ W
fagpa & 9 ¥

Fu I1: 19 TeHb 379 aTfvaes d@eam o fopaneam
T BB FEFAT T@AT & S Tz @l fpansiraan &
Tafrd ®Yar & @ 39 ufoeaieies W Hed |
I HUAT &b Yah1eT H Ara U U fqwedt ¥ @@
IAT B TIT BN

() = 19§ AfpT w11 38 7

(2) ® 1 oA ¢ Wfh &= 11 9

(3) i w1 wd I 9 |

(4) = w@ I wd I o 2

Tl 1 @l gl 1 &% @19 gAfad &
Tl T I
A. ARG IWET L @R S A faty
B. dm@ wa@H 1. <y fafy
C. wvigra War 2@y 111 greafsean fafd
D. @&al IV. uifaa fafy

T fiu 1o faeedt & @ @& SO & TG B
(1) A-II, B-III, C-I, D-IV
(2) A-1V, B-II, C-I, D-III
(3) A-II, B-1I, C-1V, D-lI
(4) A-IIL, B-1V, C-II, D-I
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Match List I with List II.

List I List 11
(Cells) (Secretion)
Peptic cells I.  Mucus
Goblet cells 1. Bile juice

II.
V.

Oxyntic cells
Hepatic cells

Proenzyme pepsinogen
HCI and intrinsic factor
for absorption of
vitamin B,

Choose the correct answer from the options
given below:

(1) A-II, B-I, C-1V, D-1I

(2) A-IL, B-1V, C-I, D-1II

3) A-1V, B-III, C-II, D-I

(4) A-II, B-I, C-III, D-IV

ocaw>

Which one of the following symbols represents
mating between relatives in human pedigree
analysis?

M) I O N X 2

& [0 @ [0

Vital capacity of lung is .
(1) IRV + ERV + TV — RV

(2) IRV + ERV + TV

(3) IRV + ERV

(4) IRV + ERV + TV + RV

Match List I with List IL.
List I List II
(Type of Joint) (Found between)

A. Cartilaginous 1.  Between flat
Joint skull bones
B. Ball and II. Between adjacent
Socket Joint vertebrae in
vertebral column
C. Fibrous Joint  III. Between carpal
and metacarpal of
thumb
D. Saddle Joint IV. Between

Humerus and
Pectoral girdle
Choose the correct answer from the options
given below:
(1) A-I, B-1V, C-III, D-II
(2) A-I, B-1V, C-1II, D-I
(3) A-lI, B-I, C-lI, D-IV
4) A-IL, B-1V, C-I, D-1II
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T I & g % |y gafad s

T 1 T 10
(eRfITIT) ()
A. ufesd Hfyrerd 1 s@eT
B. @ @iy 1. i S
C. onferafes® Il 9T T=IgH
HITTEHY PlSEISE
D. feufes IV. wodiua ud
HIfTeRTd fqaf@ By, &
a9ty & o
AT BB

T 5 ™ fawen § ¥ 98 SO B T9T BHA|
(1) A-IIL B-I, C-1V, D-II
(2) A-IL, B-1V, C-1, D-III
(3) A-IV, B-III, C-II, D-I
(4) A-IL B-I, C-1II, D-IV

=1 A domaet fagawor § @i a1 wdie fiederl
% 9/ HgF Bl e & s 7

) I o8 K X 2

& [0 @[O0

HHS B AT GHAT 2

(1) emgemedr + samedr + 3y — sy
(2) g + e + A

(3) g + ey

(4) SmEeTEr + el + AT + sl

T L & T I & 9 gAtad el
T 1 T 11
(@fa =1 gFw) (% wem T W ¥)
A. UG-G . <99 suT@ stieal
Gy % 9
B. Wg® @il Il ®9swes 7
gty Frepeadl werewet
% "
C. i &fy . &S & wrw ik
AHYA & A
D. =« dfy IV. ToE wd si|
QA & 9

R fou o frad ®§ /99 IO @ 9aT B
(1) A-L, B-1V, C-III, D-II
(2) A-II, B-1V, C-III, D-1
(3) A-II, B-I, C-II, D-IV
4) A-I, B-1V, C-1, D-IIT
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Section-B (Q. No. 186 to 200)

186

187

188

189

Select the correct statements with reference to

chordates.

A. Presence of a mid-dorsal, solid and double
nerve cord.

B. Presence of closed circulatory system.

C. Presence of paired pharyngeal gillslits.

D. Presence of dorsal heart

E. Triploblastic pseudocoelomate animals.

Choose the correct answer from the options

given below:

(1) B, D and E only

(2) C, D and E only

(3) A, Cand D only

(4) B and C only

Which of the following statements are correct?

A. An excessive loss of body fluid from the
body switches off osmoreceptors.

B. ADH facilitates water reabsorption to
prevent diuresis.

C. ANF causes vasodilation.

D. ADH causes increase in blood pressure.

E. ADH is responsible for decrease in GFR.

Choose the correct answer from the options

given below:

(1) A, B and E only

(2) C, D and E only

(3) A and B only

(4) B, C and D only

In cockroach, excretion is brought about by-
A. Phallic gland B. Urecose gland

C. Nephrocytes D. Fat body

E. Collaterial glands

Choose the correct answer from the options
given below:

(1) B, Cand D only

(2) B and D only

(3) A and E only

(4) A, B and E only

Given below are two statements:

Statement I: During G, phase of cell cycle, the

cell is metabolically inactive.

Statement II: The centrosome undergoes

duplication during S phase of interphase.

In the light of the above statements, choose the

most appropriate answer from the options given

below:

(1) Statement I is correct but Statement II is
incorrect.

(2) Statement I is incorrect but Statement 11
is correct.

(3) Both Statement I and Statement II are

correct.

(4) Both Statement I and Statement II are

incorrect.
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Hise & HaW H WE HUA B AT HU|

A. 9L, 3 Td Qe A 159 Bl SuRfd
B. dg ufEewe 9 & suRafa

C. 7o # gitwa am figi @1 suRafa

D. U &g %l SURANT

E. Baif@, gz Er gl

A fiu U faeel § @ St SR @ 99d Al
(1) %aw@ B, Dwd E

(2) %a@ C, Dwd E

(3) ¥a@ A, Cwd D

(4) ¥a@ Bud C

frfafad § ¥ & o BuT e T 7

A, iR ¥ rartae emiie 39 &1 ™ U@
feat ® 4% BT <ar )

TETTE AT Bl A b AT ST b GO
B G A S

TUAUE aifeel I s Bl

TEUg @ 9§ geiad il &

TEUT WURAR § Ul & U SAEr §

ﬁﬁ%qwﬁw@rﬁ@rvﬁawwwm—m

(1) %@ A, Bud E

(2) %a@ C, DT E

(3) %aw ATd B

(4) ¥a@ B, C wd D

@

SESNe

faeraee ¥ I % g B 81
A. Hfas T B. g@w Ifa
C. %R D. =& fus

E. oowe fftmi

T fau T faeen § 9 SR SwR @1 99 |
(1) %a@ B, C wd D

(2) ®wa@ Bwd D

(3) %a@ AT E

(4) %a@ A, Bwd E

e < %ud faw U ¥

o L I e B Gy STt | Hifrest Iuraedl
wy ¥ fafeeg et %1

w11 S2Em Sfauese & S wreren § f&r s
3

SUged HoAl b webteT ®, e fag Ty faeedt F @ W@
I B TIT B

() #1892 wfeT w0 11 39 §)

(2) ® 1 oA ¢ dfhT &= 1 9

(3) == F= I wd II 9 ¥

(4) = ®= 1 wd 11 e/ 2
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Match List I with List II.
List I List II

A. Logistic I.  Unlimited resource
growth availability condition

B. Exponential II. Limited resource
growth availability condition

C. Expanding M.

age pyramid

The percent individuals
of pre-reproductive
age is largest followed
by reproductive and
post reproductive

age groups

The percent individuals
of pre-reproductives
and reproductive age
group are same
Choose the correct answer from the options
given below:

(1) A-II, B-IV, C-I, D-III

(2) A-Il, B-1V, C-III, D-I

(3) A-Il, B-I, C-III, D-IV

(4) A-IL, B-III, C-I, D-IV

Stable age Iv.

pyramid

Which of the following statements are correct ?

A. Basophils are most abundant cells of the
total WBCs

B. Basophils secrete histamine, serotonin and
heparin

C. Basophils are involved in inflammatory
response

D. Basophils have kidney shaped nucleus

E. Basophils are agranulocytes

Choose the correct answer from the options
given below:

(1) B and C only
(3) D and E only

(2) A and B only
(4) C and E only

The parts of human brain that helps in regulation
of sexual behaviour, expression of excitement,
pleasure, rage, fear etc. are :

(1) Brain stem & epithalamus

(2) Corpus callosum and thalamus

(3) Limbic system & hypothalamus

(4) Corpora quadrigemina & hippocampus

Which one of the following is NOT an advantage
of inbreeding?

(1) Elimination of less desirable genes and
accumulation of superior genes takes place
due to it.

It decreases the productivity of inbred
population, after continuous inbreeding.
It decreases homozygosity.

It exposes harmful recessive genes that are
eliminated by selection.

)

3)
4
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T I & % |y gafad s

T 1 = 11

gaR-—dx gfe 1. omfifha dared

%1 SUASHAT Bl

K Cro)|

it daes @l
YT hl ST
Y T
Hfeal &1 wideraan
STfrpaH Bl ©
fsTach g SeHe
T T g
3 21

SYd T S
3y it % Aol
1 wlideTadT g9
Bl B

1 fiu U faeeal § @ W@ SO B g9 HA
(1) A-IL B-1V, C-1, D-III

(2) A-IL, B-1V, C-III, D-I

(3) A-I, B-1, C-II, D-1V

4) A-II, B-III, C-1, D-1V

e o9 B A U w9 7

A. JOTFA A Ssarl B TS AT BB
F

B. @iftea fewrt, faefm va Rafw & @

HT 2

Jaiftea v wfafsrare & aftafad gidr 2

JAId o gk & HR B Hsdb ol 8|

JEIREA STHUTBITTRIT Tl & |

vﬁ%%qm%wﬁﬁ%m&wwwao—m

(1) da@ Buwd C  (2) %aad ATd B

(3) ®a@ Dwd E (4) ®aw Cuwd E

WG ARA®h BT 9T S W ae, Al dl
stfvreafe, gall, e, ST safe &1 s s 2
(1) wiass @Y oiX 3demd

(2) HUIE haEH T TeHE

(3) fofde a1 ofix zEUIdema

(4) BRUR FSOEET 3 fEwidhud

e & B iquST & @y Y B

(1) 39% BROT &H ABAE Al Bl FThrET Te
g5 foper & Sl 1 Taae BT B

T ST :USTT &b 918 98 Sia:Ueiid THie &
SATEHhdT HH BT & |

qe GG B HH Bl 2|

TE EIWYE STYHTAT ST bl ITHAT BT &
g9 g i e o ¥

A.

B. =wEma ghe 1L

C. el amg
it

II.

fRert amg
fithrs

mo 0

)

(€))
)
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The unique mammalian characteristics are:

Q)

hairs, pinna and indirect development

(2) pinna, monocondylic skull and mammary
glands

(3) hairs, tympanic membrane and mammary
glands

(4) hairs, pinna and mammary glands

Match List I with List 11
List I List II

A. Mast cells I.  Ciliated epithelium

B. Inner surface II. Areolar

of bronchiole connective tissue
C. Blood

D.

II.
IV.

Cuboidal epithelium
Tubular parts specialised
of nephron connective tissue

Choose the correct answer from the options give
below:

(1) A-Il, B-1, C-1V, D-III
(2) A-Il, B-1V, C-II, D-I
(3) A-L, B-II, C-1V, D-III
(4) A-IL B-II, C-I, D-IV

Select the correct statements.
A.

B. During Anaphase, the centromeres split and
chromatids separate.

Tetrad formation is seen during Leptotene.

C. Terminalization takes place during
Pachytene.

Nucleolus, Golgi complex and ER are
reformed during Telophase.

D.

E. Crossing over takes place between sister
chromatids of homologous chromosome.

Choose the correct answer from the options
given below:

(1) A, C and E only
(2) B and E only
(3) A and C only
(4) B and D only

Which of the following is characteristic feature
of cockroach regarding sexual dimorphism ?

)
)
3)
“)

Presence of sclerites

Presence of anal cerci

Dark brown body colour and anal cerci
Presence of anal styles
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B O fafireand weas waeahal @ € ?
(1) W, Huiqedd Ud vl giads

(2) iU, HHBISERT U Td @ Tt
(3) T, Ft ueE e wd @

(4) ¥, Huidewd U W Uit

T 1 & T I & | gafad &
T T 11
A. T @i 1 geErl Sudkar
B. sa@fTar & I o gt
A ads IdH
C. I, =TI IUehaT
D. gFes & V. fafdre @St s
AfABIBIR AT

1 fiu U faeel ¥ @ W@ SO B g9 HA
(1) A-II, B-I, C-1V, D-1II
(2) A-II, B-1V, C-II, D-1
(3) A-L, B-II, C-1V, D-III
(4) A-II, B-III, C-I, D-IV

TE B B TIT B

A. g fmi aguee ¥ e & R

B. uymrgwn ¥ Turgmiag fawfed s ¥ oeix
SO ST B

C. WY ¥ IUYa e §1

D. dfse, Tiesier T 33T siamaen § g a9
S E

E. oI Sl S\d ORE & 987 ST
% 919 B B

T fau 1o fawedt & @ 999 Sfm ST &1 999 B

(1) %a@ A, CTg E

(2) ¥%a@ Bug E

(3) ¥ad Aud C

(4) ¥a@ Buwd D

1 & & 9 & faeaeze & dfte fawaar @1 fafire
o T 7

(1) 3% & IuRafd

(2) TEE g & SaRafd

(3) e U R & TN w& & qH
(4) 7T 9@ @ SuRafa
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Which one of the following is the sequence on
corresponding coding strand, if the sequence on
mRNA formed is as follows

5> AUCGAUCGAUCGAUCGAUCG AUCG
AUCG 3°?

(1) 5> ATCGATCGATCGATCGATCG
ATCGATCG 3’

3’ ATCGATCGATCGATCGATCG
ATCGATCG 5’

5’ UAGCUAGCUAGCUAGCUA
GCUAGC UAGC 3’

3’ UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 5’

2
3)
“)

Which of the following are NOT under the
control of thyroid hormone?

A. Maintenance of water and electrolyte

balance

Regulation of basal metabolic rate
Normal rhythm of sleep-wake cycle
Development of immune system

m o0

Support the process of R.B.Cs formation
Choose the correct answer from the options
given below:

(1) C and D only

(2) D and E only

(3) A and D only

(4) B and C only

Which of the following statements are correct
regarding skeletal muscle?

A. Muscle bundles are held together by
collagenous connective tissue layer called
fascicle.

Sarcoplasmic reticulum of muscle fibre is
a store house of calcium ions.

Striated appearance of skeletal muscle fibre
is due to distribution pattern of actin and
myosin proteins.

M line is considered as functional unit of
contraction called sarcomere.

D.

Choose the most appropriate answer from the
options given below:

(1) A, Cand D only

(2) C and D only

(3) A, Band C only

(4) B and C only
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afs s g7 mRNA &1 %9 T fean T @

5> AUCGAUCGAUCGAUCGAUCG AUCG
AUCG 3’, a9 T & ®If$T o9 &1 %A &0
BT ?
(I) 5 ATCGATCGATCGATCGATCG
ATCGATCG 3’

3’ ATCGATCGATCGATCGATCG
ATCGATCG 5°

5’ UAGCUAGCUAGCUAGCUA
GCUAGC UAGC 3°

3> UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 5°

)
3

C))

1 % § ST arENEs WA b R 9 T § 7
ST T AE YL AT Bl G @
ST UM &X 61 e |
N-WFH % °h %l Mg @ |
wfeean a &1 fawE|

E. mardr. Fmio @ uikar & wierted &l
T fau T e § 9 @€ SO @ 99T B
(1) ®a@ Cwd D

(2) %ad Dwd E

(3) %a@ Atwd D

(4) %a@ Bud C

S o w>»

et 9slt & fowa & B ¥ HuT W ¥?

A. sl IS0 Biel SIS SHad B XA F 3D
B ¢ 99 W9ge @Ed g

B. Ul g & Arebranoneh {ageH dhieadd Sat

H WS B |

C. et Ustl & giER feemee uieRs ud aaEe
Al % faaRer uiaey & ST el 2

D. TH @ & Fa B HREHD Shls AHT S
% A gt #ed 2|

T feu U faeedl § € q9q ItE ST @1 99 Bl
(1) ®aa A, C g D

(2) %aa C wd D

(3) ¥a@ A, Buwd C

(4) ¥aw Bud C
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fefefEe [FEsT ear7 @ g -

Read carefully the following instructions :

6.

10.

11.

12.

13.
14.

15.

16.

17.

AT TR g W, qdemedt a1/ gie Sied ¥ 9d 3
U (g ufafeiy v shraiera ufatafa ) shey fHaeres
ohY TGV WU S | Tdemeft 379 e g giedert o 5
wehd B

39 gfent o1 HWohd & H6 | e gfafyea e e fo
T GAIahT ohT Hehd, ST TR oh Ho1 Afdferia ag a1y
T Hehd W faerar &1 oR =g fis & < wdamedt gud
e giedert 3R IR 3 o1 & fag fies 1 i
T Q|

Tdameft ghfyea i fe 39 ST o= =61 | 7 91w
I R 37 T2 7 e | qdeedt sTae TR
¥ gikaenl/ I 99 § Fuifa Tom & sifafea s
=1 ferdi |

IW 79 R fFE THR F ded 7 K KES +
N T ST T R |

TS M R Y gdamel, fiers 1 79 gae-ua
fe@md |

g arefters a1 flere 1 fovm erqmfa o fam =
Tdefreft STo T A B |

Frdd e &1 91 SR U feq faqn wd
Iufeerfd-—as/eh T g sEaR (T % @e1) fehg
fom =g ghaneff odan e =S B0 afe feet
gitgrrell ¥ gET R SufeIfd-useh u¥ e TE
R =1 =g AT STET foh SET ST U S wteran ¥
3T srgfara | st JIHeT JEn S
eI eh/ eaaerd URehetsh sl SUANT afeld & 1
TART-heT/BicT H =R0T o T udemeff, odem &
ot we fafradi g fafaa €1 egfaa @em &
Y ATEE! 1 e 39 TdaT o feEi v faftesi
STIRENT |

foret grema & et gicant ST STX U T g
HT ST A L

T giedeht / SR U= H fau Tu udet gRaent dohd i
qdemel wE alek ¥ sufeafa-udes § fod |

A "¢ 9 e @t erafy &t lien & fau us g
Ut fFe @1 wfaqRe @99 yee fean wmom, a9t
g gt (S femew & fow omdifies w0 @ e
), BHIES BT IUART HIAT & a1 T2 |

6.

=~

10.

11.

12.

13.
14.

15.

16.

17.

On completion of the test, the candidate must
hand over the Answer Sheet (ORIGINAL and
OFFICE Copy) to the Invigilator before leaving
the Room/Hall. The candidates are allowed to take
away this Test Booklet with them.

The CODE for this Booklet is HG Make sure

that the CODE printed on the Original Copy
of the Answer Sheet is the same as that on
this Test Booklet. In case of discrepancy, the
candidate should immediately report the matter to
the Invigilator for replacement of both the Test
Booklet and the Answer Sheet.

The candidates should ensure that the Answer
Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No.
anywhere else except in the specified space in the
Test Booklet/Answer Sheet.

Use of white fluid for correction is NOT permissible
on the Answer Sheet.

Each candidate must show on-demand his/her
Admit Card to the Invigilator.

No candidate, without special permission of the
centre Superintendent or Invigilator, would leave
his/her seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to
the Invigilator on duty and sign (with time) the
Attendance Sheet twice. Cases, where a
candidate has not signed the Attendance
Sheet second time, will be deemed not to
have handed over the Answer Sheet and
dealt with as an Unfair Means case.

Use of Electronic/Manual Calculator is prohibited.
The candidates are governed by all Rules and
Regulations of the examination with regard to their
conduct in the Examination Room/Hall. All cases
of unfair means will be dealt with as per the Rules
and Regulations of this examination.

No part of the Test Booklet and Answer
Sheet shall be detached under any
circumstances.

The candidates will write the Correct Test Booklet
Code as given in the Test Booklet/Answer Sheet
in the Attendance Sheet.

Compensatory time of one hour five minutes
will be provided for the examination of three
hours and 20 minutes duration, whether such
candidate (having a physical limitation to
write) uses the facility of Scribe or not.
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